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Passage:
eha:— SN TNt uidn waT fAdearerdRa: e Sw Riar fRraal

AT ST T STl ST TAe TR, J | S T
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D HAGYUTRIE |
Correct Ans : C
Subject : Sanskrit Bhasha 01

Passage:
et SR TeriRt vl Uy [idearars mv: Ifdaady Iw fadr feraal

AT STH W STl S A e g ae e A S
TATATT 7T ¢m|mm—xmﬁma@mm

o

T AUIAT SR MEE FHH ATIEE T FE g fEb
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T oot i) STAREHTSe HeaT WHE VAT EsTerd Jed |

Q.No: 2 Fer HIgTed uftsdn: $A Igaraf?

A Rrenfefaag
B HRpaTAg|
c U0 |

D TFAEHN|

Correct Ans : B

Subject : Sanskrit Bhasha 01

Passage:
oha:— eNfAR TRt uidEr wamT fAsearaeRa: faary Iw fwr foreal
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AT STH WA Sl ST FAqed<qaer e qEfa| ST T
aahamwwa:ﬂ M|mmwwqmm
TR I IEIEE| WEE AGE ST F R 9 A e
T T i) STaaETRe Hed! W WA aeed Tad |
S| ST ZATY HATTAIAT: HIE ==t i)

Q.No: 3 SRATEHS Hed! THwl Bl Yafa?
A R ceasnrs |

B SR ger

€ AP ST

D TIERTTT: 3|

Correct Ans : B

Subject : Sanskrit Bhasha 01

Passage:

Tha:- PRI Teriel Ufdean W A eareTdRea: SRiaar ST Riar el

AT ST T ST A=A AT, A7 TET T
“—f?faffm?rﬂ?ﬁm mlmwﬂmﬁﬂmm
OERE T0Zar: ml T A9 S T e OO0 S5
PETLITA WATA 76 | G AT =1 AT ST d: Wi
T VI | A 9eT, WEETATEd G TEFATEN: 3 A8
o e m| »WWWWWEWWI
S FRONH TG A | AEFIEF TFa: o 9 A qee 9 98
| MWWW#W T == H‘ﬂ?l

Q.No: 4 Saifaye - I favgaret feraal
A NG JEH|

B o fagme|

c SRR )

D Sarafasd g

Correct Ans : B

Subject : Sanskrit Bhasha 01

Passage:

Hob:— NI Terisl ufdeat W fadearardiavea: Sfraany S far feradl

AT ST WA STl ST Aea A= e qafa| A T

T TG | AR 9eT, WEaarasd ad TR 36 T8
T feren: i) ymwwwmmw?wm |
A FOE AgH A | STAFEE: TFa: T 9 - 9 7 95
ST Tl ZETT T STeraeuarAT: Fiie =at: i)

Q.No: 5 gtg FARIA - 3 F: TDPR:?

A R
B g
c AT |
D Al

Correct Ans : B
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Passage:
bt~ steffafad e ufdan nu fasearas: Jfadary 3w fuar fradl

AT ST W STl S FAe=agaer e 4| ST T
TAFIAAT AT A M AFF] T WFAA] Ted Ao
AIETeH 92t 31940 = 949 SATEE = R Tl J997 319414
T YA | AATAAET qET, WEEaATd a TEEATEN: I agd:
T oot A STEAAUHT HEAl WHE WA [Eserd Jeda |
S| 5T 7R AU A0 HE ==t 9|

Q.No: 6 sgTera: 3 T Wt ug forwe

A Prapedl
B qftsar:|
c ThUGE|
D o |

Correct Ans : C
Subject : Sanskrit Bhasha 01

Passage:

Hobel:— e TRl ufdw@n yl fAbedermRea: Sfidaer S R o

AR ST TN T A AR FA| S T
Wﬂﬂm EUVEAR ?TRT'H ‘JI'CH"N ('HM ’*'4 ) (l‘ﬁj d‘l"l’c! 7—57 A
IR vmr-‘m T T T A En?q' HTFIT EIECIR]
T FEAI | AR qET, WEEAATET a6 TENATEN: T a8
T e aat| Wmmmwmml
A FAOTA T’l’—r [t | ﬂwaqm m FA T UL g o g
AN ST T ARGV T = =ar: 14|

Q.No: 7 39 - & TEw4 ferad|

A T+ I
B 9+l
c T+ Wl
5 F+al

Correct Ans : B
Subject : Sanskrit Bhasha 01

Passage:

Hobar:— SHeffafad TRl ufd@n uuH fasearamme: Ifadany S o foraal

vil;hbfl‘lvi U?mT T ST AT ATIF T | S T

TR T ammvmnqwmwn?IVmegﬁﬂ??ﬂ
qiEeH ‘TIU’HT WI U S SATEE T Fe m EIECIP]
T A | AR qET, UFaATd a TEEATEN: T A

Q.No: 8 IMAARY & TR IRfar: Haf?

A STeTERENTET:
B fasamamar: |
C ARG |
D
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Correct AMW"

Subject : Sanskrit Bhasha 01

Passage:

Hobel:— ST wer=t ufden i faseraeatea: Sfaqany Sw far frad)

A I T SR GAfRIET |
el o 9 IEmiRa™ T 11

Q.No: 9 TAIHHIR Hg i fRtvafa 2

A aRma: fagaEE
B O et
c R §HME

D RIS

Correct Ans : B
Subject : Sanskrit Bhasha 01

Passage:

Hava:— HfelifeRad gaiit ufda@r wymi fasearersava: 3faaan W fraal

A I Gguh R o1 SARRIEA |
el ot 9 ImmiRT™ T 11

Q.No: 10 R GeaIm ™ &l 7 RGN ?

A SRT
B S
C o
b dem

Correct Ans : A
Subject : Sanskrit Bhasha 01

Passage:

Tba:~ e Ter= Ui vl Riseemaea: Ifaam 3w fiar frad)

A I TURh R oRT YARRIEA |
fRdhvafa 7 9 MR 9 11

Q.No: 11 3 30 T A oy ?

A e
B ™
c &
D U gfR:

Correct Ans : C
Subject : Sanskrit Bhasha 01

Passage:

Tepa:— Srelifefed yaiist ufer wymi fawearaeme: Sfuaany W e foraal

T ¥ TeurR oR1 WARRIER |
Rvafy w9 IEmRREE T 11

Q.No: 12 RT3 U Wil Wi fovamd e 2

A SRR
B TR
¢ SR
D QUL
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Correct Ans : B
Subject : Sanskrit Bhasha 01

Passage:

Y- SeNfiRed geriel ufdar wemi Reveararsavea: Shaam 3w frar Rraq)

A I AR SR GHRRIEH |
Rfvafa wiw o smmRRTE T 11

Q.No: 13 wowe 3% Uy waiaug e 2

A SRT
B SR
C RRhafy
D QU

Correct Ans : B

Subject : Sanskrit Bhasha 01

Passage:

- eI st ufdan yum faserasavea: Sfaan Sw e fred)

A G SRT ARG |
Rfyafa o 9 ImRRTE T 11

Q.No: 14 3(EPH T Y&H UPet: Uedd: P:?

A 3T I, Tl WedT:
B 3TH U T T:

Cc 3T I, TFH UIg:, T WIT:
D 31 Jo, A HIY:, TG Wed:

Correct Ans : D
Subject : Sanskrit Bhasha 01

Passage:

Toha:- SeNfRed et ufdan uum Rserasa:a: 3faany W faar fradl

A IR SRT THRIEH |
Rvafa Akl 9 IrmiRaE 3 11

Q.No: 15 SRiidsfe T Taw: M fo 2

A LY T
B dRY:

c T

D Syt

Correct Ans : A
Subject : Sanskrit Bhasha 01

Q.No: 16 3 aI 7 -

A 34 s

B 34 TfF:

c 3R Sufwg
D ECE I

Correct Ans : A

Subject : Sanskrit Bhasha 01

Q.No: 17 IR T &: A2

A m :
B Tt
c FermEA:
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D faeetaf:
Correct Ans : D
Subject : Sanskrit Bhasha 01

Q.No: 18 HAIfGR: 3fd gy Jferd fawre-ared w2

A e: foR: a7
B T faR:
[ T ffoR:
D TR faeR:

Correct Ans : C

Subject : Sanskrit Bhasha 01

Q.No: 19 FufefRay Fau: fawe: Famar yreagwiaHl Yfis! wdtaaar gofafy -
A A HETY SUTRRHIYAY SHumRY Tt sifkr

B T A P 1 SR TEEal Ay
C A ST UTSThAiaTY RigrepT ATkt 9 Avige Fdfwr
D T GHreRIgAy =il Yaras-sasasrm-gare Fmife

Correct Ans : A
Subject : Sanskrit Bhasha 01

Q.No: 20 YHT: SfERu-fasd o1 3feRs: Fedm |

A g1 STa: ferea] MRy, deT & vrr: ST Hdf |
B HTSTH SRS STerT ST Sifae: T |

C YD ST ISR Sieial Sifad: iR |

D qra: faftira: sitem R |

Correct Ans : B

Subject : Sanskrit Bhasha 01

Q.No: 21 BHF SPEATUDH T [1eid: FF i & el T Ao Haifwy

A TEIERHA
B TGO
C Siftyaafa:
D SeqTaf:

Correct Ans : B
Subject : Sanskrit Bhasha 01

Q.No: 22 speifafRaay &1 3fa: wfidir 2

A WAHSHETT: STz STgrerHTr: fbRef =1 S |

B SFTHA TR YU T aren: e TSRy |

c e gaT ey ST, 91 § REawa®H (blank slate) 3 AT |
D Rl WHEE e BRI fR1ae: S I 9rea |

Correct Ans : B
Subject : Sanskrit Bhasha 01

Q.No: 23 FRIF®R T3 W-Rre & At Riemfa w12

A SRTHA-fafAT
B ereH-faftEr
C SERH- R
D yirTTen-fafder

Correct Ans : B
Subject : Sanskrit Bhasha 01

Q.No: 24 oI Sla Aea@quiaeHT vl Ried: sraaie- dRifa TurguR quiTEss iR 9 F-ifdl fF aq Faa?

A SIIBFRIH (Rubric)

B ¥R (Portfolio)

C Wﬁﬂ»‘-ﬂ{ (Observation)

D SURIHTASY 3G (Anecdotal Record)

Correct Ans : D
Subject : Sanskrit Bhasha 01
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Q.No: 25 "TgHFR AgHiael” 3R T B fafdar 2

A TSI

B Remvg-wigsadu
c YRUSTEPAE U

D ThRAador

Correct Ans : C

Subject : Sanskrit Bhasha 01

Q.No: 26 &: JHRIAP: Wea: (Functional word ) ?

A THSH
B TEHFH
c fafdre

D Gauiccaa

Correct Ans : B
Subject : Sanskrit Bhasha 01

Q.No: 27 HGAUIGTHH HaEeawd Jaesd: A

A YD E
B ey
c SRR

D TR

Correct Ans : A
Subject : Sanskrit Bhasha 01

Q.No: 28 T.31.3.oR. A shRRAmeIRaRIYY U=l TuaET (2005) SHRITHFEA IS -SUNTHE (Constructivist Approach) SfTHE BRI | FARIRAY i Sy Hoiigmids s/a UM Hid 45
A BN STHRUIATT RIS as ST g siftieiies snam: |

B TR WISATHT ST S T TRIsaI, SRS 9 g 487 e |

c T -2 - AT TERT STTHHGHR T i Weg T T RI&oRy |

D Rueif: gd-SRATa-Ti T THSFGRT TdRIea SRet 9 ST SRR yag: s Rfmmfatg aut A

Correct Ans : C

Subject : Sanskrit Bhasha 01

Q.No: 29 Te-SeRAH SgGE T HHaT Taile THEen ?

A ST

B SIS HRTHGG: T
C YH-TG-HHTYAHTH |
D AR |

Correct Ans : A

Subject : Sanskrit Bhasha 01

Q.No: 30 '3(EIS BHT: G TG0, TR, TREUHATD, Teres, T 7 mul: 4ag: 309 § IRAigem: ' offm T & ywee ke »

A o
B et
c MO
D T

Correct Ans : B
Subject : Sanskrit Bhasha 01

Passage:

The:— fefifafed el ufdw@r v fasearemaa: Ifadar I e forad)

TR HIRARY ARG AT S Ao F6fd ¥ | TR TaR: Tk S | 3N [emariies faftad e a1 uikar uraafa @ 1
PTAR I FHorg: T | WAReomg YASH dehan sraq) i THEE: TH taHded- il | AR gRIT| SUM UF UG | Hawh: Uhds gar siawd 3xRem vy 3 |

TR Al itgdl W08 a4 Jvae | Tada Jaify: Fan | quit SHeeH SRRET Sguisyad| 3i: 91 RIS T S1EY Siagd- “UAT! SXRAUH SR oif:| 3id: ded orf Wigea” 3 |
AIGRIFAT A Theh: AT TIeT SRREUEHY aT: Siva | AR EHm srafaaar amges: TRy wndon dareoma Ifcar | gaad Aented ARGH SRy TaT SR e JeTHRUMYEST | aRRET T
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Q.No: 31 HIRHRY BT AP Hifaq THT F60 H ?

A gt
B Tt
C BGICE]
D AR

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Tha:— srefafad sl uidm@r wami Rscgrama: ey I fiar forad

TRT FHIRARY ARG AGT Hif AT F6fd ¥ | TR/ TaR: Tk AR | 987 foemarnieds faftad feer ar ufar ueafa w1 1
FHTAR AT Ferg: Tea: | HReoma JEHT e siadl $id: ST AHIUIN TeHaed- | SRRANT gERI1 IR UF UG | Hawh: Thds gar A SRRem dwaeg” 3R 1

TR Al iedl 98 a8 J9ge] | Tadd Faify: Fan | G SHaeH SRRET Squisyad| (d: 91 R T 15T aed- “TAT! SXREUH 3RS YH:| 3(c: dad oif Wiged” 3 |

TR FHAV Thep: AT W FIReEUIEHHY : i | A srqafraar amge: R arftor Hareomr IEfaar | yead Aid g Ry 91 SR argui AeTHRUMTRq | "RRET U

Q.No: 32 fomdf dfywmt gl sraq?

A FHAREOT |
B FoRME|

c Fraean|
D AR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Tha:— SN el ufdear yyH Rseasea: SRaaey Sw R gl

TR HIRERY AfAed it s ardon Fufa ¥ | TR T9OR: G offeA | Sy faemarfed fafaq fee a1 ufvar urerafa = 1
FTARR ST Horg: T | WARETT SfAST Sreham Srvae) ik THEE: T Taddad- i | SXRIN G411 SUR U U4 | Haw=h: Uhds gariy ofaxd JxRem) Jvag" 3f |

TOIIRIR Aferiad S9g o Swae | Taia waifd: Far | aufl SHad JeRe siquisHac| r: o RIPH T S1gd St “THT:! IREVA SR o1 3r: 789 1 wigea” 3 |

TR A Uhd: Wi T SRREUIGHHG STG: Svaq | S sroafedar arges: TR arione HiaReom IEfaar | gadd Atertedr Mg SRUG | qa1 i arguT ASTHRUMY | “SRRET U

Q.No: 33 FRILMIAR Ffradt S8 a7 Jwae 2

A Leiof]
B qo|

C Eizcaci
D Bieeea

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

btz feffafed iR ufdw@r v fasearemaa: ey S o forad)

TR HIRARY AfAed AT Sifiq ardion F6fd ¥ | TR TaR: G S | 4N [emarniies faftad e ar uiar uraafa @ 1
PIARR AT Perg: TT: | WAREO I Jeias] sac| of: TFET: TH TaHacd- “Hl !SI Ex | SUH U9 U9 | Ha=k: Tde ZaH Sfaxd JRRam Jvag” 3fd |

TETARRIAR Aed! S48 T Hoad | Taiia Faii: Ha | GUI SFad QRRa SuiSHar|| Srd: 91 RIE TA Mg Siaad- "Gk JIREUM SR | of: ded o1 Wiged” 3 |

AT SFA Theh: AT WIeT SRREUEHY STe: iHa] | AT srafaar amges: TR o Pareom IPfcar | yaad Aented AfRgH sRyd! TaT SR aeTR JeTSRUMYEST | aRRET U

Here: Sl MY Uded ud fewe
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A qH: |
B i
(o} oRaR: |
D IR

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tber:— el e Ufewr Ui fasediaaaea: Sfadary Sw e frad|

TR HIRARY A iadt AT S AT T 7 | TR 9aR: G S | 30T [Qemarnied fiffadq e a1 uRkar araafy w7 |
PIATR ITHART HAG: TG | VARSI DI Srehars] Srvad) 3 THTSH: A Taragd- " | 36 g1 39T TF U4 | Ya=: Theh A Jiad SRREm Jvag” 37 |

TETIRRIER AAedt S o770 Jwae | Taia waify: Faw | auf SFeeH SRRET SrquisHac| 3id: |1 RISH YA SIga Sfded- “aT:! JRRE0MH STds o: | ofd: 49 Hrf Wigwa” 3 |

TR U Uhds: Wi T SRREUISHHY SM: Svaq | S sroafeaar armges: TR arion SaRemm IEfaar | gadd Areriedr Mg SRHd | T i e ASTHRUMYD | "SRR U

Q.No: 35 Yiad - YasITd AHH FUH?

A 4 +aq |
B ofedl + Tl
C o+
D o4 + 3l

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Y- SrefRdd =l ufdear yui s IRda Sw e foed

TR HIRARY AfAed AT Sifd ardion F6fd ¥ | TR T9R: G S | G387 [emarnies faftadq e ar ufkar uraafy @ 1
FTARR ISR FHorg: TS | WARerg SRS Qb srad) it ATHET: U TaHded- | QIR gdRIT| SUR UF U4 | Hawh: Uhds gar ofaxd 3xRemd Dy 3 |

TERRITAR AfRAd WY a7 Yvad | Taid Jaif: $aq | aUifl SHacH SRRET SquisHad | oid: 9T RIVF T g9 SHagd- “TAT! SXREUH SRATdH o: | 3fd: ded S Wiged” 3 |

AR A Uheh: Wi U1 SRRUGHY Te: e | A emm srafaaar amges: TR ardor Pareom IRar | ydad Aented AfRgH sRyd! TaT SR ageT JeTSRUMYEST | a¥RET U

Q.No: 36 3q: Td H1f Wigwd | arasA Hqud e

A @ |
B wd|

c |
D puai]

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Y- SrefaRdd MRl ufdr v RTwmsmea: IfRda Sw e fred)

TR HIRARY AfAedt AT Sifd ardion Fafa ¥ | TR IaR: G S | §aN femariess faftiad e ar ufkar uraafa @ 1
FrARR IR Ferg: WS | WHReTT YRS Sl erad) i IHEE: AT TaHded- I | AXRANT gERIT| SUR UF U4 | Hawh: Udhds garH ofaxd 3xRem dvag 3R |

TEIRIIER AR W 974 N9aq | Toid Jaif: $ar | TUTi SHacH SURET SqUisHad| 3id: 91 RITH T 18T SHacd- G| JXREUF ST 4F: | 3: 7ed o Wiged” 3 |

TIGRIFAT A0 e AT U SIREUHTY SaT: Suaq | e sroafan arrges: TR amfior SuReomd IEfiaar | yaad Afanted AegH SRud | TaT SR argum AeTHRUEYS | “SIRET T

Q.No: 37 3a: U1 RIPH T Mg Sfaaql o fadiworg fae?
A RsF
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B @l
C S|
D aeq|
Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hoha:~ SreNfeiiaed Teiel ufdn yuH s aeeaa: 3faar Sw e fogdl

R HIRARY AfAedt AReT S ArHon F6fa ¥ | TR 9aR: Gk S | §a [emaranied fafiaq e a1 ufkar ureafa W 1
PreIR AT Herg: T | WARETT ARSI Srehaw] ervad) i THEE: T tanded- “Hi | xRN GaxN | SUR U U4 | Hawh: Thds garH sfaxd SxRem fvage 3f |

TR Al iedl 98 a8 J9ae] | Tadd Faifiy: Fan | qui SHEeH SRRET Squisyad| id: 91 R T SIET faed- “TT:! SXREUH 3R 4| 3(d: 9ad o1 Wigea” 30 |

TR A1 Thds: AT W SRREUEHHY ST syaq | AfeH sroaferaar amges: R arione SeReomr ISR | yedad Aieiadt AfegH SRy | TaT i TR AR | “aRRET U

Q.No: 38 Hdq Alartiad! AGH HRHA| 33 F: TPR:?

A Al
B el
c gl
D ferg1

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

bt~ eI vent ufdwn uaHT fasaramaa: Sfuaamy Sw i frad |

A feramH SerasiEf smamff
f 33y TRUHRAR: VG YR |
T o) T 9 gl T ShTwiafd 11

Q.No: 39 & SHT=iaf ?

A Ssed

B Hgﬁﬁ%’i
o ISR
D PR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

oo~ fefifiad gen 9fewn uam ieamee aa: S SW e firad |

F framafor Heaaeel sty
f 3y RITERARA: TR GeiRfY |
N1 4R AT gl A Setata 11

Q.No: 40 FHEm: fqyaa: TRT: o S e=ad ?

A Rarfave:
B gepfifdet:
C T
D GREIGHESH

Correct Ans : D
Subject : Sanskrit Bhasha 02
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Passage:
Toba:— e uert ufden s s araeaya: Sfuadmy I fuar forad |

A R HeuaeiiEf emdafaiy
Hf 33y RueRFA: R gk |
et SR R
T ¢ AT T gl T SRThaR 11

Q.No: 41 TIRJ 3 &: WA ?

A et
B PG
c ST

D qugRy:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Hobet:— SfefifIRa vent ufden waHt faseraeaya: Sfuddany S fHwar forad |

A R SeqaeiEl smamarafi
A 33y WIUHRIRS: REH GeRM |
oy §R AT T gl T SRTSaRT 11

Q.No: 42 3miidg: 3 &: GUN: ?

A Tgeife:

B T

c SHEHIG:
D 5t

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Tba:— SfefifTad gent ufdwn wuHt faseraeay: Sfadaay S fwar foad |

A R FeqaeliFf smdmari
f 33y RIUHRMARA: R GERM |
NPt s R
T o AT 9 gl B SHISiaR 11

Q.No: 43 3 3R T fobamad fvey 2

A Regrai
B Shafar
c Si
D &l

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- e T ufdan U Rdserrasaya: Sfaany 3w R el

= fRramiH FeaasiiEf smdmafef
f 2y TRITPRERY: VA GERA |
O ¢ AT 9 gal A Setatd 11
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Q.No: 44 <FTsiaf’ - AR T |

A ST+ Sftaf
B STS(+Siafd
c SRT(+Stafal
D SHTSR+af

Correct Ans : C

Subject : Sanskrit Bhasha 02

Eassggg_:_
Toba:- srefaiad ueixi ufdwr wam Rewraeay: Ifdmm 3w fuar forad |

A R Heuaeiiel smd=iy
f 3y TSR R eiRfy |
T o AT 9 gl B SRTshar 11

QNo: 45 foget = fopwpp

A SRRH
B SFRAY
c e

D ety

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 46 U-Toqdh! Ul B W:?

A RGNEE
B g
c WY-qHd
D T,

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 47 3 fased fogd -

A gﬁ{a:m:gmm

B TR AT T : HRT
c Y §9 T U

D T: STE: §9 YOWTH:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 48 @ 3fd U Yusied: &2

A @
B sfaq
C w&t
D TE

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 49 TguRPpfabygyHEET WG BT 3fF: THiHAT?

A eI qermmr Fafor )
B UISTUTEA BRI fraamT it wanT @ waql
c T URARG AT HAq A HTaTel Tee Hafi|

D TTAHY HIVHRRTAR e Sagdd RITTAT
Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 50 URYSEISERAIK, BAY

At B
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AIHD DIRICTUAI AP/

A

B PR e

C forremar:, siftrga:, siftre: faeTe:
D W@iﬂjﬁqﬁ: fora:
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 51 YHSR® IO Yoe a4l 3¢ RISTIgqun $iamd:, deRdl, THay T 7a: Fown: S Riegoiiem srafaf 2

A TggEd Rem
B w2 R
C Afspganr: Rigra

D TSR Rigm
Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 52 Y-SRI N3 Sadm IfT: T

A HTSTET: IR HHTE0 TR
B YTOTT: PRI TRER iR af<y
c WISIT: SN Pad Yo+ SGH Td Hewquiq
D THTRT: T 1RICTY] Pt ST 4 Hewqui]

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 53 Tefar Rie gl H¥qvs: a1 SRR 12

A Rreror Terae AR
B TAYT:

¢ Riefep:

D B

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 54 TYTHETAT: HINTIETS Gl JUIATE S, Ta: FUERRISET:, S FERRISA: 3F=K BT A T | T TR BT Tl g ?

A Eﬁ’mﬁq&ﬁ: (Bottom up approach)
B 3T Ugfd (Top-down approach)
C Wq&ﬁ: (Disciplinary approach)

D ST REag : (Curriculum Framework approach)

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 55 3Ud-IFMHAERAR ( emergent literacy stage) 34t TrRaai wWifsrad |

A TG ARG
B g o
c Remg

D fgrurt FAfom

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 56 JuH: 4idl ---

A F Reer Fu Hafal 3 g e
B FY UG STERT: Hafa sy sty Ty
[ g vy it wfafsal arg ety

D TP Ve TR SR Py I
Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 57 & §aa A Sied Yan? Hradawt 7 diud iy - 3R Tagarevume

A THFRT
B TG
c SR
D |
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Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 58 "F-HADTH Fhu-HUH' 3 Uags SITH TFR:

A
B
Cc
D

au:
T
gHDH
3T<Y:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 59 TS Te-UI6wd PIAFSUIGH d A Ne: A | HIoATS: TEIT: TG SHRT

A
B
C
D

DI TEIHE-GaH HATOITT SgebT el ©
Fa: TN eI

NeF BT

- YEArGH fRi-oATeT

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 60 spEiferyaarey Had 7 gy ?

A
B
C
D

SARFITATOR SRAHSTR HTIRRT: *afd
TorrToTe ST HTTERT Hafy
TIRRATAT STEROTRrT SaRadar Sy
JF rfeRTT: T ui

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 61 Rifq e’ & Heaic & Ry B
A 9 9 ey FET

B a1e-faare wiaEifar

C fofad wy-sw

D Eeikict

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 62 fmfifed & I S-w Aifde eifieafd &1 Aew Te) Fufare

A
B
C
D

AEE freafE & SR 3R 3O F 3awR I Od Td §

&S U1 F warT § P sufdd, 3ot arft § g s qevdr € dip i Jarsit & rwor 3t S B wE ¥
TR el & geg oM & Td Wi e & S Rifia S J Hide 1 Bt uge 4 e Bl
R TN BT TS T TR A TS §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 63 IugRIAS g ¥ faw Fufafea 8 § SF-wr ord =& far s aifiee

A
B
C
D

Here| T4 SIS i

Wrfie WR W g= & Ta H T 81 R 9% 3Teh Fall F Wad S8 9 A
IR TAE BTSN 7 AT Favg Bt SferT-31 GHril & ¥4 & GG
et enett # fagm fava &1 vy fowa & w9 & ugr

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 64 Fm # § ol &) Wi Wi URIY IUa=! TRM 7 P Tgordl & GHTEH & Tl &2

A
B
C
D

GBI 4 T agd [ gES
i A g

T fRiere BT HIST-WRhT

e & viaie =é

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 65 4 & q UIsIqia &I favg a¥g BT YRl 7 Tel g1 =NigT?
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A PHIST W WA Bl 3R
B W Y BT F1 3R
c T & 3 B SR
D R Y YA T R

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 66 % & § ST AR 1 o b =T ST oKl 82
A W fafy

B e fafyr
c - Ruaor fafdy
D JereRul fafy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 67 3% & § T WUSR Eaica]
A HIH BT

B e U4 9 T

c T T 31

D RS faw &1

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 68 S {17 WiHIfa® U Y ke il B, I8 A= & § $F- v Fga 82
A SIFTHTST

B AU
c TS
D TqurT

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 69 3 7 § Rieres &1 Fafd g =1 -

A Seiaret

B Faa RS
C Faa g

D Fad TS

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 70 &=t o1 & M ZagR #, Wi & & SR AR I 82
A qe H 99 W

B A F TR
c S F IFIH R
D FMw

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 71 a1 Rigqor & sicfa urer & siftrgor 37 W vaet e §2

A G a1 g
B Fad G
[¢ Fad g
D Faa e

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 72 PgRifed & 3 1 & 9% F e 41 e & G 31 yfieT s/ 82
A el BT faidieRo = &

B T B gy Teu FA |

C SHPINET ger &

D i A |
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Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 73 ¥F 3 I3l & e A B ow 397 A ol I8 g 82

A it i}
B Juf
C po
D wfy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 74 Bl # T2 T Uy B A g FY U=A Y =Ry ?

A TS

B Faa Feves
c e 4 Sadtg
D Fad qgSTIT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FE=T: TR $Y UG I T YA & T IR IR A [aweq F1 99 -
W H T 7@ A

P 7 39 | o fa=rR)
fafy 3 ferelt v IR
ga 1 fgatl §F € TR
ERREECI]
TRIGON W SR Hadret |
F&T GHIT Sia et
fegren It @it

0 Ffea e 3
afera arerarsdt 3 @l

S F oM -9 IR §
iyd ged | @l

J =R BT Hid-urET
TR RIT g8 S|

Foft 7 8 g% oM

Sl Y Hrelt A e

Q.No: 75 = & & Swfaa ufckral & JaRar &1 A1 Jarge-

A FUSIFAR D=
B T g

C el

D SRR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&R PR BT TgaR I T TRAl b FEY S ek ad [qPed T 79 Bifor-
W e 7@ A

P 7 39 | foan fmrR)

faf 7 foredl v W

ga o1 ufsat §F € AR

ERNREE ]

TGO S Hedre|

F&T GHET Sia At

T &< wrehn

T Ffea smak 3
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qfera aranett &t gd |
it T oM B$-T3 P §
AfYd ged | @l

I RO B UfFd- 1T

R o g eroRry

Foft 7 8 g5 s

Sl Y Hich At e

Q.No: 76 Iugad Ufdadi & SIuR Rad RIF 3 gfif Fifore-
il & S I$-38 Xl §, AT I

A TR HaTet|
B TSa H @l

o afieht <t e
D A iR faar|

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

T S B UgaR I T TR & Fed S SR ard faded $T 99 Bife-
W e gem A

P 7 39 W faan fErR)
fafy 7 Rt v IR
gw o1 ufeat 3 g A i
ERLEEEC]
TRTGON Y SR Few@ren |
Hal GHIT Sia |t 3
fezgan <t wrehi

T e el ot
afera areraredl ot gal
il & o 33-38 HXA §
ARd ged | gEl

J RN BT HidT-wTET
R RT g8 S|

Foft 7 48§ o

Sl Y et ot e

Q.No: 77 19 =l 98 &1 AF a1 Wi’ & R e & A e eg 31 997 -

A siformafaT
B ST
c A
D Sfaret

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= FToaiR H UG IR T U & Fed SR IaR ANl [9ded 1 90 Hifig-

e 7 gem A

4 7 39 W o fEr)

fafyr 3 Rrelt v WA

g@ o1 ufeat A g =ar

ERCRERCE]

TRTGON Y SR Fewaren |

&1 GHET Siad !

fezgan <t wrehhn

T B el Ht

RIRCRIGSIEEI ]
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SffEl F oM I$-I3 Al §
Afd ged | Y@l

I RN BT MG
R for g€ ey

Fft 7 g §$ s

Sl Y Hieh e

Q.No: 78 Iudor ufdkrdl & W]  wry o7 o T B2

A Eicat)
B S{ATDIET
C CRESS
D Bl

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

w1 HTeI $ UGHR I MY T & Te S IR A1 fadeq &1 999 -
W g g A

P 7 39 | b fEr)
fafy 3 Rt v WA

g ot ufeal & g = ri
ERURGECN]
TGO A SR Fadwet |
1 GHET S et
fegen St @it

0 wfea Pt
afera arernsdt 3 g@l
SffE F oM I$-I3 Xl §
AfYd geg ® gl

I RO 1 HfF-H1aT
R for g€ sy

Foft 7 8 g% oM

Sl Y Hieh At e

Q.No: 79 = & § v w1 1 vt Sudt vkl & =i o a2

A el
B Y
[ SIRTYAT
D L

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

W o H1 ggas P T URAl F G Sfed SeR ardl fased &1 99 Sifere-
W e g A

Pl 739 | fbar faur|
fafy 3 forelt v WA

9@ 31 uisdi A & TR
Berdl 6 el &
TGO A SR Faaren |
1 gHT Sfie wet A
fegen it @i

R Bfea sk 3
qfera arersi Bt ol

S F oM I$-I3 Al §
Y gea | Y@l
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J =R BT Ui -wrET
R RIT g8 e
Foft 7 g g% oM
Sl Y et A e

Q.No: 80 Iudad Ufrdl & S8R, e & A Hfera o1 orf @ &2
A g =l o

B Y TG Y FgT gl
c forfa
D RGERENID]

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

FE=r: HTeaiR B UG IR Y U & Fel SR IR A [qdhed B 70 Pifg-
W I 7@ A

Pl 7 39 W fbar fdar|
fafy 7 foredl v AW
ga o1 ufeatl § € TR
Berdl g Fal &l

T S Hadret|
FT GHIET S et

T &<t wehn

R Ffera smak B
afera arerned 3 4@l
ST & oM I$-33 HYA §
fyd ged | g@l

J1 R BT HiR-wrET

R g g§ ey

Folft 7 8 g% oM

Siae @1 Hrell It e

Q.No: 81 TYRF & BI-T1 THE 87

A 8 Y

B SERITHIT THN
C o W

D TIEY T

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

e A fou U TR Y ugR g T U & Ted Ifd <R I fode &1 9ue Fifvre-

BER SRS R A a1 A 7, & A 98 S 5 Tech-331 99 Bell 31 e §1 9 off Tl ast oY Tee-S8T Ve ST §, o ot die-uie 8 i § 5 3% 9y e Je )| 7 O Y oRewd, T IS B, T

faemach Jait ¥ 999 921 U9 § 5 3% I 080 310 €1 99 d% $U-9-50 S Aeel 7 W aifor, faaiedl ¥ goR & T 8 urdn g5t Tedl-E31 § ¥ o -fheadt & 9 1 3ar 8, W g9 Shiel el &
FIE & VS A ¥ SRS BT S R B, R ar o 81 e Tehi S RR 901 g8 6 Hed 81 did @, e A 9@ Fe 51 o1 4 XeaT €, df 7 fhde @ RR ge 9H, Ricel we w1, < ge o 31 vy

T et € T9 o I ord @l § oK wowa F et i # e € wed Mé 71

9% UIeT: 1A R Y Fdd 9T, 98 U8 W FIgaR el Bl AR Tehl-SS a1, 98 ST8, 98 fAansdl & e, 98 el 3R UGHI, 98 T8K-IS, 98 WA [T, R ga-oigd, ofiR-mie &1 fepa ig
2, et 1% R 93 31 ¥ e W 3w $1y IAR R B, T B SIS A9 R IF §, A S faaRumy # IR slueRTg 4ias ¢t g8 A 3t aXg ST eI § SR B § 5 'wem ¥ v €, 7 oM 1 g

Q.No: 82 "Teeh-2T T Wil 1 e &, i -

A Tgq IR i 9t s Bt B

B T § oifE T 91 &1 44 gl

C 9% A @i, P, T 3 wewa Bt 71
D T W - S & & 99§

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:

w1 T U T # UgaR g I URAl & Y ST <R At [3ded &1 999 Pifore-

AR SR g A a1 A O, & @ 9 wgm F Te-Se1 g Qal o1 o 31 o off Fft aewt @) Y-S Aad Saar §, o o dle-ule g S § & 399 91y SIeR @M ) | |1 3 oewd, T DI @t T

gt S # 9ad 791 U9 § fF S5 ImE 70 8 €1 59 96 HH-9-5W U Adel 7 T Hir, el # gar € 8 2 uran ug ee-g91 @ 5 i a-Mhead % dian I 3ar 8, W 59 oiRel fiell &
PIS & T I 3| SRS WA ITP U B, P I 0 71 TN TSl F RR Y 95 3w 7ed 312 319§, Tl A sif@ e I &1 2 T/l 3, A |1 fbdbe I RR ge oM, ol we 91, S ge s a1 v
2 Teeht & O Fal F ot et ¥ SR wuuE 9 Wi Wi § et & wed W R

g UIa: BIa R J Fwd a1, 98 U8 W ggan el Fiem iR [eeli-8 a9, 98 STe, 98 faasdl & Suye, 98 ug 3R UgHI, a8 ASK-311S, 98 IR WY, s ga-ogd, iR-Tie &1 fdega 9
g, Fash 9% R 33 37§ IRT W 3w By JAR B 7, o B A Had gR TP 8, A 3! faRuRT F AR siumrAg Hiysr ¢t g5 ol 3t e ST e § Rk # § fF uen # 7w §, 7 oM 3 giy

Q.No: 83 = # I F1F- Y-S o swr-af § 9 wiyma 7 §2

A T - 34, SR BT VU T &
B e 2R 9 el & fovere At B

c TS THA TET B §

D iR Sferel, S @) jersw TE &

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= D 3w e i B UgaR Y ¢ Ul & Fad SR <R ardt [3ded &1 999 Sifong-

BAR SR g 7 a1 7, § A 98 w5 Tech-S31 we @l o1 en §1 9@ off 7t aswt @Y e-goT Qe @ §, @ o die-tie 8 S § [ $9% 9y e Fe oR)| 7 O @) o, T HIE @, T

e Io  Ted w91 U9 § & 379 GmH 981 81 ¥ O 6 HH-9-5H Uh Jpgl 7 T i, Ryansal ¥ AR & 7 8 uran et Toeh-S81 § 6 R 8t-fhed & diar T 3ar €, W g SiReh il &
DI F JA T B SRl Vo I e B, B ot o 31 e wewl & RR i g o Hea 812 1 8, Tl 9 oife we SR &1 21 g 7, @ @ fvde 9 RR ge oM, el we 9/, & ge s @1 v
T et o O ol o ot el § ofR s i it gt # et € e it 1

98 UNT: FTd R Y Add M1, 98 U8 W Fgax el Sl SiR Twil-S3 991, 98 ITE, 98 fAaisdl & smye, 98 UeHl iR UgHI, 98 Agi-31s, 98 IRd Wy, Rr ga-ogd, orfR-mie &1 fega A
g, foarh 9% | 9% 371 9 Afeh W 30T HiY IAR 3B 8, 3T B A1 HaAd GR aF 8, b D! [AaRYRT H TRT SlepRAT HIsT et §5 AT B ag ST IET 8 oiR & § i 'vem # 7 g, 7 oM 31 g

Q.No: 84 9/ "TRIg Agd! & RR FI Ig G Hgd ©l? B! UgaH I« -

A WHATES TR
B furares aw
c ThadE® ae
D [REEIC R Ca

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= R 2w U Wi @ vgaR gy e uRAl & Tad 3fd ITR adt fawe &1 991 -

TR SRl R A 41 A I, B o 98 SR b Teet-S31 e B &1 o 71 9 oft Tt aet Bl eell-S ST Ward Sl g, o off die-tie g1 S § 5 3% Wy e Wan @l 7 @ 3t oRewd, T B @1, 7

foemadt S & vl 991 U6 § & S0 IHE T8 §1 €1 9 9 $U-9-51 UE A%l 7 T i, el § gER & T8 S urn agi ea-S91 @ & o R-fead & dar 31 3ar 8, W g ol e &
FI S JA T T SR WA S R, oS U o[ B TR Tew! & R 367 7 o Hed 812 1 §, T 9§ i@ Te S BT 49 XedT §, @ 9 fbdre ¥ RR e 9M, i we oM, 2 ge I @ v
T et &) TE Qe O ot el B SR s o it wfordt & et & wed At 21

g WI: DA R F e 91, 98 U8 | TgdR cgidl BleT AR eehl-$8 a1, 98 STg, 98 [Qansdl & Siee, 98 UeT SR UGHI, 98 TSK-31S, 98 IRA WHIG, RS ga-eigd, oifR-Tie o1 Rega ig
g, foamh 915 | 93 971 I Al W 301 H1Y IJaR IR 8, ST B SIS Had gR aF ¢, A I7@! Ry & B slydRTa s et g€ e ot kg ST R ¢ SR H § i 'vem # 0 §, 7 /M 31 g

Q.No: 85 "fre@1 U v g1 & T & weg 181 3 -

A wferTaT
B 3G
C Ayt
D WA

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

= R e e T B Ygd] g e U & a9 Sfd IR At [awe &1 a9 Fifon-

TR SRl GRT A 41 A 7, H ) 76} S b Teeh-S31 e Tl 1 I 71 o ot Fft Asat &Y Tell-S ST Wad &l §, 9 off die-Uie g1 S § % 3 A1y e W @l A @ 31 oewd, T IS 31, 7
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foamaedt Gl ¥ vl 91 U9 § fF S 9mE 780 91 ¥ 96 0% FH-9-51 e 3991 7 T i, el # gER € T8 & urn ug Tei-S91 @ 5 fam wR-eed & dar 1 3 8, w g ol il &
P F A T 31 SR Ba I [ B, B U o7 31 T Tl F RR 1 98 319E Ted 22 81 8, Tt § i@ e I &1 4 gar 3, O 1 fvde I RR ge o1, Rl we wM, <t ge 9 @1 v
3 el ¢ ve Al D ot et R ok waem @t i) wfoddt § 1wl & wed W@}

g UIT: 1A R Y A 91, 98 U8 W GgHx el Bl AR eh-83 g4I, 98 STg, 98 fJansdl & wHve, 98 gl 3R UGHI, 98 TSE-I1S, 98 IRA WYY, PRl ga-9igd, SHR-Te &1 {epa g
2, fareh 1% W 93 31 IR W o Fiy IAR W@ B, o0l B SIS Fad §R 96 7, A S} RaRumr F A siuaRey Hias gt g AT 3 axg ST ¥Rl § 9K B § 5 e ¥ v €, 7 /M ot gy

Q.No: 86 famsht Hie W 83 59 W SvAT TR SaR | A?

A el R

B Afedt w®
o Tl W™
D frdre ®
Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

= R Y U T  UgR U I URAl & Tad SR IR adt [3ed &1 99 Bifong-

TR SRl G A a1 A 7, B o 9 S 5 eeh-Se1 e A @1 Ion B1 o oft Hft asat @t d-g8T W A §, o off die-tie g S 8 39 Wy e [an @) 7 W @) oReRd, T B @l 7

e Jo # Ted w51 U9 @ & 396 W 78 8] ) O 6 $H-9-5H UF Joel T T i, Fansal ¥ gAR & 7 8 ran el Toeh-81 € 5 R 8t-fhewd & diar 91 ar €, W g S Reh el &
PIS F A T | SRl Wa IAF o B, B o1 o §1 W9 Tl F RR i 98 o Hed 212 1 8, Tl A oif@ e I &1 211 5 2, o @ fivde A RR ge oM, el we oM, < ge oM @1 v
T e & O el O ot el § ofR wmH o wfidt gt # et € v Wit 1

I8 UI: 1A R A Fdd 9T, 98 U W Fgh: el Bl 3R Tweil-S3 941, 98 ITe, 98 fAaiedl & wHye, 98 el 3R UgHI, 98 USE-IH1S, 98 IR WYY, Rl gd-3igd, 3R-Te &1 fepa A
B, farsh 91 R 4% 37§ D W 39 B AR I 7, W B A FAd §R 9 8, Al 35! fARURT A AR SfumRAg Hiyw ¢ g5 Ap1 I ag ST e @ ok § i uen ¥ v §, 7 oM S giy

Q.No: 87 “3ifimm” & &I - T1 Iuwnf 2

A 3
B anft
c 3y
D A

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

P e U MU T B ugHR U T URAl & ged 3R IaR a fadhed #1997 Sifor-

TR SRl G A a1 A W, B o 9 S o Teeh-Se1 e Il &1 7o 71 o oft Fft et ol Jwil-SeT W &% §, o off dle-tie ) S § 37 Iy e Jen @l 7 @ 9 oRewd, T P @Y, 7

et Aot # Ted 931 U9 § 5 370 9 78 8 §1 O a6 BH-3-$1 Uh AB9T A T i, Renfeat § AR € 7 2 urdn g5l Tech-S31 € 5 fom sl-fhead & dar 91 31§, W W SRl el &
PI F A T 31 SR Fa I R 7, BHS T4 07 71 e T8 & RR 7Y 95 o9 Hed 82 i 8, Tl F 3ife e 9T &1 1 5l 7, 1 fvde § RR we 9/, Rl we 9m, & ge s @ e
42 Tl @ T A T ol Ot § 9R wrgu ) e et @ e € e AW R

g U BIA R J Fwe 91, 98 I8 | ggar cgiHal Fledm ¢k ell-8 a9MI, 98 SaTe, 78 [Aaisdl & Sue, 98 ueHT ik UgHI, 98 agE-3F18, 98 IRd WHIY, R ga-sigd, oifR-iie &1 fiega g
g, ol 915 | 93 31 9 AT W 30T HIY IJAR 32 2, ST B A FAA GR aF 8, AfpA IAD! fARYRT & BT SiepRAd HiIs gt g% A1 Bt akg ST IR 8 R & § fF 'vem ¥ 0w §, 7 M 31 g

Q.No: 88 {31 gé-fireadt & O T I5 T ?
A il

B TRt

C )

D gepa

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e R fRw o Wi 3 vgaR g MU Ul & wad 3fud IaR At fawe @1 a9 -

TR SRl R A a1 1 9, & 0 78 SE P Ieel-S21 9 Jal F1 o0 31 9| off Fft aet ol eeht-S37 Wad S7ar §, df o die-tie 8 I § 5 379 Y SR Ao @) A 9 3 oewd, T DIE Y, 7

Tt Qe & Ted 931 U9 3 6 % AH T8 813 ) 99 9% $U-9-59 U Sagl 7 T S, Ramedl § ER @ 7L S uran ggi Toei-g1 ¥ fF e g8-fread & O T 3@ €, W g9 ofReh il &
FIL & VS A 1 SRS B 9P R B, Rre ar o 31 09 Tsht F RR 001 g8 a6 Hed 81 3 @, et A off@ Fe o o1 4 Xear 8, & 7 fhde @ RR ge 9F, Rieel we 1, <h ge 5 31 v
T et € T Al ordt T § R e 3 it wyfod # et € wed A 71

I8 WIA: $TA IR F e I, 98 95 W TgHR ol Siedl iR Tl-$3 S, 98 I8, 98 il & ST, 9% UeH SR UG, 98 A9E-301S, 9% IR WHE, PR ga-ogd, ofR-Re 1 fRiega g
2, et 1% R 93 31 ¥ e W 3w $1y IAR R B, T B SIS A9 R I §, A S faaRumy # IR siuadRTg Hias ¢t g% AT 3t aXe ST XE1 § SR B § [ uem ¥ w €, 7 oM a1 g

-V N N S N
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Q.No: 89 I+ H {4 HIEIRI @l Jiddd RN 4l g11117

A g

B Rt

c IRRA

D Teehl-S31

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 90 % % ¥ 7=3 ¥ Sia S & G d aH-w wuT d ® 2

A FE-T & FH I B IR e W T SiaHT Wadr 3 9rad T

B Had BE & SIS T S EER e W 7= o wRaar 3 Hed
C P T F 3o A e 3w e W = SiaT W 3 dEd 8
D FEA-T & 3T A i SR FAem W T e W 9 W )

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 91 fmfifd & & wrife 3 iR o o 1 Fed 82

A Hagfe
B g
c Pl
D srdfe

Correct Ans : C
Subject : Hindi Bhasha 02

Q.No: 92 fRwfeia & A erguRISH &1 iRy gor &u I v fewm 82
A T e

B gaT e

c IS e

D Faa o e

Correct Ans : A

Subject : Hindi Bhasha 02

Q.No: 93 =il & & Rieror-sifrma wftsan & wfekrm wu § & &1 mewqy @, ®ifs
A o o1 e & e @it g

B =3 o o) § e o €
c el @1 oo &R BT Bkt § ofR 3 T odtet < Wik wa ©1
D Rieep wiie SriHH ¥ TG SamEn S gl

Correct Ans : C
Subject : Hindi Bhasha 02

Q.No: 94 fFmfafad & & Suwt & rsaizy or 82

A g I & g TS &
B Tg W & o9 7 g 71
c Tg et 1t vpR & wreg & 7 g9a 7

D Tg T & U5 IS4 B

Correct Ans : D
Subject : Hindi Bhasha 02

Q.No: 95 =GRV &1 &} F ug o1 oif A H § T 82

A Faa TP | R 1=

B e godier ot R g T uel
C Tt oft ey F for 0 w1

D O

Correct Ans : D
Subject : Hindi Bhasha 02

Q.No: 96 FERRTAITmEmudtd_ Rigwdardl
A T T e FRig0r 3 W TR e SR

B Ty & Wy Rygor

c e & W Riggor
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D B F R Riggor
Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 97 afe g0 =ga & {5 fenfiai &1 w1 W qu-g SifieR 81, @ 3% T dus! 31 T U B <t S Mt U R 3T iR g1 a8 TuA A 8 3§ v Rieror Rfy & e 8 wgr mar @2

A e <t fafy
B ot <t fafy
c T fawg fafr
D e fafy

Correct Ans : A

Subject : Hindi Bhasha 02

Q.No: 98 wfa, W geaiwH, ufagf® onfe & wefia RfY e 3 4 P @2

A T s

B sy fadt

c i SRR fafy
D weae ot

Correct Ans : C
Subject : Hindi Bhasha 02

Q.No: 99 faft= fawdl & PRT IF T Thal 3 W HxA & e Ggaey smazaes 37, 98 Rieor 1 7 J fvw fafy 3 e
A erarg Riggor fafy

B 3gde fadh
C i fadht
D S fad

Correct Ans : A

Subject : Hindi Bhasha 02

Q.No: 100 __ fasft & oniaivie 1wl & Howd T B SUeT Hel-Hef B NI Jamarvl s R i o a1 o g1
A v ey

B sy fad

C A faeht

D = e

Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 101 T I 9 WeE) IR WA BT S far e g1
A 7% UREHH & gRT

B are faf grr

¢ g TN

D T TS gRT

Correct Ans : D

Subject : Hindi Bhasha 02

Q.No: 102 = & ¥ o1-3h fafy Fer e ¥ Iwror # tewuar am & gra gri?

A ST - fReror xRy
B A Ry

c SRTe fafy

D Preafe Ay

Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 103 = & ¥ p- Ry gr1 o1 W forg wregt o1 e & wn e o= o1 o faan Siran 82

A srgara fafy
B A Rfy

c e fafy
D feas fafy

Correct Ans : C
Subject : Hindi Bhasha 02
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Q.No: 104 FH#J R el & Suafer 7 S o1 e Rerd war am g1

A il Hedih gRI
B weror fafy gr

C ST gRT

D TR R

Correct Ans : A

Subject : Hindi Bhasha 02

Q.No: 105 = & & ey Reqor & wreeref e A 3 fafy H-3 82

A I ffy
B e Yy
c sz fafr
D ol fafdr

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

= = R g TR 9 UgeR g Y U & Had IRd IR a1 fade 31 99 Fifn-

T I § 6 W1 1 Sie Rigia sifakergel mitrdta siwgl &1 Ue yme @ 7, o ffta PRl siemar wrees arf o1 daym ok e $ srhen § Tt § faed 3t Gy SRt 31 IR, 3
7 9fg & o & vl Sy sma &1 st 9 o 7, S i safdk oma Meran & e At Ot 3 ua oo o § 3 B $a SHEe | 4T T S 1 89 9 © 5 Te @ & R e 1 9k R
3R AMG-HEA a1 ufaHish 14 g &R0 §1 5l 31 TG-S Bl KP-fod I we o 9a g $ farrw &1 Wi Aa aan § o weige @ o Wi Witorar 81 g, Fife 39 Ual § 6 sra @ Geftard
TGl § A9 A1 §— T, 9 A & IR W R, A 9% PR 59 6T, g 81 g g Bt oR wuer o7 & ol W & g dge R wraeran & € o 1S R R |

IR 31 g 33T SHAM & SR, TG B GHT A ROl & S §

1. 99 il &= 9t srfeavyr gEa: Sy snenfia g

2. q e e & Ty v fa oma § 9fS & 9fR Ued ot silen ger § Ht o S
3. q pferawt #1 SheNfies fawrg &1 o wfey safery s, Rien @t Ja1 & wR F 9fS A

Q.No: 106 FfifEa & I v zreg o1 Wi Iodaa Teri=r & =1 oy 2

A Eeluaer]
B Bl
c RS
D et

Correct Ans : C
Subject : Hindi Bhasha 02

Passage:

fdw: AR fa T TR $ UgER IR T U $ Te S SR A fwed a1 999 Fifve-

T IS § 5 AT a1 e Rigia siokemmgut iR siws! of T e 9a v, s Riga FRemgef siomar e arf @) gaye ok Wi o sreem § T f § Raes 3 wragy s 81 W, 3¢
7 gfg ¥ +f < vfa fda sma &1 et 9g o 7, Fife ufd afda sma e & fore = Tl & uia oa o 7 3% Y oo SuE A 4T faaT 9 31 89 9 § 9 Hge 91 & R U 1 ok M R
IR AHS-GHIYA T TiaHTeT BT Y § &R B3 Yo 31 TEeH-u! ot Rw-RE § www @ o g % AR 31 Wi et wral @ @ moigR avt o o dieorer i g, Fife S U § 5 s @i foflard
TEdl § A &1 3—"THE, gl Oy & SR W g, A 59 OriER g T8, T 81 g g 3 SR Huat &1 5 el @ & forg dige R e & g S es # feg |

AT 3T g ST SRR & SR, SFHGSHT ST GHAT dH =Rl F Sl 8

1. 99 foredt 3= it srfoawen ged: Sy sl B

2. 9a e fadra & wry ufa fda oma § 9fs &1 ofk U8 &) srllen ger § &t o S
3. q sreforawt o1 SheNfis fasma & ok wiy sl s, Rien qur a1 & =R A ofS A

Q.No: 107 ITed TS & SN, YR 31 T S SHHH! & SR, TS F Il

A <Rl F ST B

B 15 ROl F g §1
c Rt A S R
D E:?!UﬁﬁB‘THT%I

Correct Ans : C

Subject : Hindi Bhasha 02

Passage:
= R fRE U T B UgaR g e Ul & a9 SR IaR adt [3we &1 a9 Pifong-

B 9 6 T @1 e Righa sifoergef 1frfl oies) a1 o yme @a g, o ffka el smemar e ol &1 wraur ok s 3t sien § aEd § e 3 ARy aRd! 31 IR, 96
B 33§ o & v Il o 1 st 5 W €, T vl S o Pt F R Rft St S wd o o # 3 B $a SR d 9T o ST 71 g9 9 § 5 A wm & R o s 9k e R
IR HHa-THieA qut wiarell B § &Rv F1d T 31 Sen-uel 3 fee-ow § ww o S g & fare &1 i et e © o moR 3 o ot Siwere e g, Fiife S ud § % o @ doftard
Tl ¥ A9 1 §— T, Y T % IR W B, A 390 PR g9 e, g9 31 g g Bt SR vt &1 e ol W % g e R 9T & d o 8 R R
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SAYRA TP T 307 g & SFuR, SRS &1 YwHul AT @it J gar §

1. 99 5 3= 31 srfegawn gera: P snuiRa gl

2. 9 e famra & T fa safda oma & 9fg &1 ofk g @t sriien gagex | St o1 wu|
3. 9a srforav ®1 Shefies faer 81 ok uftr o o, e qur I & R # gf &

Q.No: 108 Iuad TN & SR HH-T1 FuT Tfd: T 82

A SrOE-ug! B few-RRw § e o @ g & R @1 i Y7 wear @ d Ao @ o1 o Sieer e S, wife 99 var 3 o e G deftardt srforaen 3k Iu wegAel B & o &
B TEI-UE! B Re-Rw ¥ e 1 v ghar &yl 2 amen et wRan & @ werR o ot o Siperar e B, T S Uar & i o B Yollare anfora oiR S el &Y & o |
C STl 3t fow-Rw | W 7 9@ gofar & o w1 9w e wwar § @ wory o f o Dot g R, i 39 ua § 5 sra ©w doltardt srforavr iR Iud Tegmiel B § o R
D STl B Rp-Re ¥ we o @ ghar & R o1 e Y avar € @ weeg? @ f ox o dieer 76 €, wife 9@ v € 6 ere Tie Joflardt erforae @ik Su el S E R 9

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

e R R U Wi O gga} I T WAl & a9 ST IR at [Ide 1 797 Pifor-

T A € b HIe 1 S Rigia sifadergel it siwst &1 Ue yie @ §, o fRfita PRyl st e arf o1 aayM ok e $ sreen § Tt § fHaed $t Gy #3dt 31 R, 3
# gfx A ot @ vfa ufdd oma 1 siiwsT 95 T 7, Fife oy afd oma e & fer Al ddl @ uia o o QY &) o SeRiEr A | e S 81 g9 9 e s @ e & i o dg ok e 9w
3R - quT afaHiel &1 4 € &R0 €13 I8dl 1 SFEE-UE 3 Rep-Re & wrae o W gfar & 3T &1 Wi et aar € o AR ot ST o Witeeter e g, wife 39 udl € e Qi doftard
TG Y TA A1 3", gt O F FIR W, A 590 RrieR 70 T8, 0 @) g g 3 SR Guet o7 &5 Poh @l & R e R wwea & i o 1 7R R |l

SAIYRM i1 & 3T ISP & SaR, SFHRGT BT YA I ol & el ¥

1. 99 frdft a1 Y srefeavyr gera: Sy sneifa B

2. S e e & a1y ufy afd omg § 9fS @ ok ved Bt e Tger § wAt o Wl
3. a rfoawt o1 Shelfies s &1 9 wiey cafery s, Rien qur Ia1 & wR F 9iS

Q.No: 109 IuYd T ¥ 9 afdig & ST Rigid 31 JameRur foran mar 82

A I S 1 e Rigid
B eH Ry &1 weee Rigi
c W ACH BT SRS Risia
D R o See Risia

Correct Ans : D

Subject : Hindi Bhasha 02

Eassggg_:
= AR o U i 9 ygak R T URAl & Ted 3R IR Tt [aded &1 g59 -

B 9 § & T o1 seie Rigid sifaksmgel 1wt sies) &1 e yme @d g, e Afta Prmgel sremar wree orf o) waym ok e o5t srhen § wEh § Fee 3 oRay avdt 31 R, 3
7 3fg ¥ +f < vfa e sma &1 siidet Sg o 7, e Ul safda s e & e faft Sl & o oa g 7 3w 9 $o Sue | Wi foan S 31 89 9 § 5 Tge @ & R ue 1 ok e R
IR -G T VTSR 1 Y E &R0 E Yo B ree-u! 3t Re-RE § W @i s g % A 31 @i Yar HRan § O Aoy 1 oR o dieora T S, i S U § 5 e 9 oflard
Tedl Y A &l o—"TIHE, gl o & SR W g, A 39 OrER g0 e, T @1 g g 3t 3R Yuat &1 g el arf & forg g e awan & i S 8 & ferg |

SAIGEH 3Tt g ST SR P SR, SFGSA ST GHA 4 =R 7 Sal 8

1. 99 foredt 3= it srfoan g S snuila &

2. 99 3N fasra & wry wfa sfad oma # 9fe &1 ofR e ot srllen goger § &t o WU
3. 99 srferaw &1 SR fawm & oiR vl e o, Rien qur Ia & R & 9fs

Q.No: 110 f=fiRad & A PIA-W I TBIGH HRS HT W) IaV g2

A R 7 R B 5gF S TR
B I faemdf &1 geaes

C SO T B & S=m

D e A5 P T 61

Correct Ans : B
Subject : Hindi Bhasha 02

Passage:

R R T 7T T S UgdR U T YAl & T SR IR a1t [3ded &1 997 Pifong-

B 9 § 3 W1 1 e Rigid sifademmgel mitidta siwsl &1 Ue yme @ §, o ffta PRmgef st e ol o1 wayE ok e ot srhen § Tt § faed it sy SRt 31 IR, I
# 33 F o & vl =l o 1 st 55 o €, T Wi S o Pt & R Rt St S ww g o # 3 3 $a SR § JT e S 1 89 9 € 5 i wm & R o e 9k o m R
3R AMG-HHEA a1 ufaHish 14 3 &R0 g1 35l 31 TG-S Bl fid-fod I wue o oe g & faere &1 Wit Oa an § o Heige @t o | Witorar ) g, it 39 Ual § 6 srra @ Geftard
T5dl § TaE <l §—"99Hd, Yf A $ FR W B, A6 39 POFIER 79 A6, T T T S B SR wuaT & & o W & e deT e W & g o 8 ) R e

TR 31 g ST SHAMR F SR, SIS ST HHH0 A =Rt & e 3
1. 9 et 32 ot srforawn gora: Y snufa g
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2. 9a e fawma & wry ufa wfdd sma d 9fs & 9iR ued o) slen Hger # &+t o S
3. 9 pfeawt &1 SheNfiE e 8 ofR wiy it s, Rien @ur J91 & "R F 9fS A

Q.No: 111 F=fifEa & 4 g vse o1 97 FIRmE-

A Eiil
B Eoico!
C foredt
D EaRiny

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

e R U U T S UgaR I T URAl & FaY SR IaR adt [3ded o1 799 Fifor-

BH 9Ma § ¥ e o sie Rigia sifsmmgef nitrdla sies) &1 we ymes @a 3, el P Prrsmgel s wrees @ &) wraum ofR TR 9 s 3 wEl § Pee 3 et d 31 ), $6
7 gfg @ o < vl ey 3 1 S el S¢ o §, i ufd sufe g Feran % Rig Rt 9 Q e $a g § 39 Y pa SEeA Wi fean Sia 81 89 S § 6 Ae @m & e v He 9k M R
IR AFG-GIEH FuT HiaHTST &1 F 8 &R §17 Yo 31 SeT-ue @t fow-RoE & wrww @ s gfvar & faarr &1 Wi et g @ o moiR ot o o i wiET S, ®ifE S8 U @ 5 erva Wi oftard

TGl ¥ TG 1 §—"FIHH, Ui faT & IR W 2, AfFT 39& rieR g0 6, g0 S g g Bt ouR Tuer &1 e Fo warf % e digA R 9 & g o 8 &R e |

ZAIegR 31t & ST FHIA & SFUR, SRS B WerHur A =Rl 3 g §

1. 9 forelt 3w it erfeaen gea: S anuiia B

2. 9 SN fadra & wry ufa fda oma § 9fe 81 ofk Ued ot srllen Jger § ot o WU
3. 9a srfeavt F1 SheNfies fawr 81 oiR uft aafda o, Rien qur 391 & wR & 9fS A

Q.No: 112 Tidifa g1t 9t SR, Fem 4P ToR” &1 fm1 B § 7 onf 32

A S BT T

B SRR ST q@TT

C SfIF HeS g

D T T T H g 1 1 3 A T S A

Correct Ans : D

Subject : Hindi Bhasha 02

Passage:

= 7 R e TR 9 g g Y uR & HeY Id IR AT o 31 99 Pifer-

B SIG § o A 1 Seie Rigia sifakermmgel mitrdta siwst 31 Ue yme @ §, o ffta PRl siemar wree ol &1 drayE o e @ srhen § Tt § faed $t sy st §1 IR, 3¢
# 3fg A of A ufd o sma 1 siiwst 5 S @, R viy AfF s e § forg it Bt @ v g o § A B g S d 4n e ot 81 g o § T e wi & R o i ok s R
IR AFE-TETE a1 ufaHis &1 4 € &Rvr 81 I5dl B1 TRE-US! B Rp-Re I wrae i Sw g & A o1 Witk Uer e @ A Heige ot o W Wieorer T g, riifes I8 e @ o a9k oftard

TGl Y A9 Il e— T, Gt T & FIR W R, AT 390 PR g0 e, g 81 O g Bt SR Wuet &1 & ol W & g e R e & i o 88 R R |

TR S g ST SHATR F AR, SHUSA ST AU o =ROT 7 Bal §

1. 99 folt 31 Bt srfora gerd: FiY snula g

2. 99 i e F T wf oafdT o A 9 @ 9 ved B sl TgeR # i o S
3. 99 foqaw 1 SireNfie i 81 9iR v SafcRy o, Rian qut I9 F R § 3

Q.No: 113 FmfifEa & A s I3 Usg &7 797 PioN-

A e
B ™
c g
D ™

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

R PO P Tgar I T URAT & T ST IR a1 fdhed 31 997 BIom-
gt ot a1 gt ot @ e el # srEaR

W WIS YWiihd B SHS TeaR] B AR

B G g DI 9T IR Wl G@d AR

{1 3, ot e A & Ty e GeEr

HERISE $ &t It 2t SfRved Har ot

0 BRaNl P e T N wor ot

TE TS TR 98 a1 Fdt areht I o6
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Q.No: 114 Iuad dfekrall & Tafar &1 19 age-
A FHE SR e

B TErRd anf
C q@@HE @At
D HRreT$

Correct Ans : A

Subject : Hindi Bhasha 02

Passage:

A= FIoi ) TgaR IR Y U ¥ Yed 3T IR ard fawe &1 9o Hifm-
et a1 g o a5 g kel B SEaR

3G WIS Yeifepd gid I dedRi & aR

FHN g g B TT1 SR Ve T RSR

3 93, e A 3 39 g Yaar

TERIE $a <di 39! o siRied varh ot

oA TRadl & 4 g N Dol ot

T E TS TREH! 98 @ i aredt A

Q.No: 115 Iutad weiier &1 S v e & & 71 @2

A Rl P AR

B T eRarl @ BEE
c SRIE HaTt

D EINEIRG

Correct Ans : D
Subject : Hindi Bhasha 02

Passage:

PERT: P B TR Y T T B G SRIT IR a1 e P 7 PRG-
et < a1 gl oft 98w el BT SR

@ TS YAl B IS TAHARI & AR

B G g DI ITHT IR Wl W AR

I e, gl A 3 A 35 B FeEr

RIS ot adt Iua! off SfRred arwht o

T W & Yo e g e

TE I TR g ar vt areht I o6

Q.No: 116 3wy Ukl & B & I v T o1 wdnT e wmar 2
A dR

B 4R TH
¢ T
D idd @

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

FE=1: TR $ UgHR I Y U & T 3R IR a1 fawed $1 907 FiRe-
et = grf oft 95 o Ik B eEEAR

3T WIS Yeiihd B IHD deaR] B AR

Al g5 g P 39 3R WA @d RER

¥ T, gl e 3 4 3uF g R

TERTE Pl <t 34! i SR warh ot

50 BRawl P 4o T N dor A

[ TG TR a8 o e areht A

TRTG “Fab waH &1 e & A @ onf 72
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DA AR N, WA 0T 8RN Y 0, T 8 D

Q.No: 117

A ORI ST

B fordt & &1 wuTE T e

c HATgHD TR Whe BT

D S0 ¥ FO9H W Ao wa S

Correct Ans : D
Subject : Hindi Bhasha 02

Passage:

P PIoiY B UG I T UL & T I SR arel e B = Fifere-
el ot 1 gnf R a5 T IR B S@FAR

@ TS QAP T SUP AeER] & AR

Tehell I o B G IR WA Td RPR

B B, i e & A g B AR

TERIE o &dt 3T ot siRie e it

T BRIl P o T G dor ot

T L ARG 9 o et areht T @

Q.No: 118 # & | ‘WRuEa’ & $H-1 90 82

A ALY TN
B fog o
c R
D ST T

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:

FE=1: HToIiRT ) UGHR I Y U ¥ TE 3R ITR a1 fawed #1997 HiRe-
et ot 1 g7if R 95 W de B s@AR

3™ WIS Yaiipd g IS qeaRI F AR

FHeh g g B T IR B gE RPR

& T, gl e A 4 3uF g R

TERIE Fa &3t 363 ot siRiey varh ot

A BREIl $ 4 g N porl At

gd Tl TREF 98 d Fired arelt T A

Q.No: 119 fyfafa & & fr g 1 Wi Swdad dfdkad # et fooan man &2
A R

B ¥
[ AR
D K

Correct Ans : C

Subject : Hindi Bhasha 02

Passage:

T ST B Uger IR T TR & Fed Sfd IaR ardl faded 19U Pi-
eh ot 71 gf R 95 T IR B sAR

3@ WIS Yafdd 81 IS AeR] F AR

B G g B T AR Jarl T PR

o=, g e A 4 36 g Yaar

BRI Fol St It Hl smied warh R

Il gRaTal P o T G worh oA

JE TSI WA a8 o et aren I oA

Q.No: 120 /'S gRI B} 1es =6 o & g B 7 § e vt @1 99 i
A Mricza

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

28/91
Page - 28



B Wi
c A
D R
Correct Ans : C

Subject : Hindi Bhasha 02

Q.No: 121 A man plants 29241 banana trees in his garden and arranges them, so that there are as many rows as there are banana trees in each row. The number of rows are:
2467137

TS et 3o i F 29241 FA F I3 T ¥ 3R IT 3U USR HaiYd Rl ¢ 16 vl uidd F Ia @ A F s § Rt dfcar €)1 dfcadt 9t Sew €

171
A

171

176
B

176

136
C

136

181
D

181

Correct Ans : A

Subject : Mathematics

Q.No: 122 The present age of a father is 6 times the age of his son. He is 30 years older than his son. What is the present age of the father in years?
2467383

T U1 Bt 9 IR 3P GF B oG B 6 TAT ¢ 98 30+ T3 ¥ 30 af 31 31 e ot oo omg awf & o g2

30
A

30

35
B

35

36
C

36

42
D

42

Correct Ans : C

Subject : Mathematics

Q.No: 123 The ratio of the present ages of Raj and Vijay is 2 : 3. If Vijay's age is 3 years more than Raj's age, then find Raj's age after 2 years (in years).
2467399

3751 3R foord &t adam g T SUR 2 : 3 §1 9l fovr ot oy, Wt @t oy @ 3 avf ot B, o 2 9 @ W @t 39 (anf F) 3 S

2
A

2

3
B

3

6
C

6

8
D

8

Correct Ans : D

Subject : Mathematics
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24,:;07:5162: If the length of a rectangle is increased by 25% and width is decreased by20% then what will be the effect
on its area?

M T T R T 25% 7 af TR e 7§ 20% i FAt i St 3, o 6k SAwe W HT T T2
Increased by 5%

A
5% i afa
Decreased by 5%

B
5% 7 &l
Remains unchanged

c
amfafda war &
Increased by 10%

D

10% 1 afx
Correct Ans : C

Subject : Mathematics

Q.No: 125 ) /144 is-
3469508 The value of v/1.44 is:
VIZHIAAE:

0.3

0.3

0.03

0.03
1.2

1.2
0.94

0.94
Correct Ans : C

Subject : Mathematics

Q.No: 126 3 : 5
2467984 V2744 is equal to:

2744 & WS %z
14
A
14
8
B
8
11
Cc
11
81
D
81
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Correct Ans : A

Subject : Mathematics

Q.No: 127 The supplement of 123° 457 is:
2468128

123° 45 HIURD 8 :
56° 55°

56°55°
56° 15°

56°15°

55°56°

55°56°
55¢15°

55°15°
Correct Ans : B

Subject : Mathematics

Q.No: 128 Evaluate the following.

&)@ @

ol &1 geaie a1
ERIGNEE

121
81

-7 0

121
81

1331
729

1331
729

729
1331

729
1331

81
121

81

121
Correct Ans : C

Subject : Mathematics

Q.No: 129 The solution of the equationi:f —7=2-3x1is:

2468385

AT & — 7=2 — 3x FIGA &

1

1

-1
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-1

2
C

2

0
D

0

Correct Ans : C

Subject : Mathematics

Q.No: 130 “Problem solving” as a strategy of doing mathematics involves
2468458

I 31T Y R H e 1 g A Wit 8

extensive practice

A
USSP
using clues to arrive at a solution
B
FHIY TR Uge & 1Y U@ GRAT 1 Suam
activity based approach
C
TRy smemfva e
estimation
D
S{AM

Correct Ans : C

Subject : Mathematics

Q.No: 131 When we get remainder after division, it is called
2468533

Ve AU & I AT FAZAT _ Faa gl

perfect division
A

T feure

multiplication
B

o

addition
C

g

integer division
D

oIt fauer
Correct Ans : D

Subject : Mathematics

Q.No: 132 The proper fraction in the following is-
2468573

frofafea & 3fa e 8-
2
5
A
3
5
B 5
4
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& ln

1
13
C
1
13
9
3
D
]
3

Correct Ans : A

Subject : Mathematics

Q.No: 133 Rachel buys 2 kg 5509 of sugar and 1 kg 500g of rice. Find the ratio of sugar to rice.
2469659

TR 2 farall 550 7 < SR 1 fFel 500 T Trad @t 21 A+ SR 1aa $1 oI 1d I

17:11
A

17:11

17:10
B

17:10

10:3
Cc

10:3

15:13
D

15:13

Correct Ans : B

Subject : Mathematics

Q.No: 134 The ratio of 48 minutes to 2940 seconds is:

2469720

48 e ¥ 2940 53 I U B

1:1
A

1:1

48 : 49
B

48: 49

16:17
G

16:17

18:19
D

18:19

Correct Ans : B

Subject : Mathematics

Q.No: 135 ¢ 5a+7b
2469830 5a-7b

= 7,thenb : ais equal to:

afy B0 _ g Hp W E:

5a-7b
15: 28
A
15: 28
B 28: 15
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28: 15

23:10
C

23:10

10: 28
D

10: 28

Correct Ans : A

Subject : Mathematics

24'\:5‘;912316 Find the value of ‘a’ and ‘b’ so that the polynomial x3 + 10x2+ ax + b is divisible by (x — 1) and (x + 2).

'a'm'b'wmﬂmaﬁ@trmﬁ?agnaxw 10x3+ax + b, (x — 1) 3R (x + 2) ¥ fasm== BY1

-8, -7
A

-8, -7

18, -7
B

18, -7

7,-8
C

7,-8

7, -18
D

7, -18

Correct Ans : D

Subject : Mathematics

Q.No: 137 Solve the following expression.

2471937
(8a— 6b — 3c)?
fufifea sive 1 g Sifn
(8a— 6b — 3¢)?

92a% + 42b2% 4 94c2 — 120ab — 120bc + 180ca

A
92a2 4+ 42b2% + 94c2 — 120ab — 120bc + 180ca
49a% + 144b? + 49¢% + 72ab + 92bc + 98ca

B
49a® + 144b? + 49c? + 72ab + 92bc + 98ca
64a® +36b% + 9¢? — 96ab + 36bc— 48ca

(o)
64a% + 36b% + 9c? — 96ab + 36bc — 48ca
44a% +80b? + 62c? + 40ab + 20bc + 28ca

D

44a% + 80b2 + 62c? + 40ab + 20bc + 28ca

Correct Ans : C

Subject : Mathematics

Q.No: 138 Find the ratio of numerical value of area of circle to circumference of circle of a circle with radius 2cm.
2473345

2 3t i 918 99 & Amea iR URRY & SIS B BT S I B
1:1

1:1
B
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2:5

2:5

3:5
C

3:5

3:7
D

3:7

Correct Ans : A

Subject : Mathematics

Q.No: 139 1If one fourth of a number is equal to three fourth of other number. Find their ratio.

2473395

I TP eI BT T TNUTS O el & i DT F SR ¥l IADT U 1 BN

1:3
A

1:3

3:4
B

3:4

2:1
C

2:1

3:5
D

3:5

Correct Ans : A

Subject : Mathematics

Q.No: 140 Thought provoking questions does not develop:

2475394
fraRre ny & fefa 7 8
Power of imagination
ool Wikt

A
Decision making ability
fofg % @t gwar

C

D Motor skills

Correct Ans : D

Subject : Mathematics

Q.No: 141 NCF-2005 emphasizes that

2475668
TIT®-2005 39 910 W 99 &l § &
Mathematics is just the application of learnt theories and formulas
. o e ¥ R ot i o g &
Mathematics is more than formulas and mechanical procedures
y s it o s Sl & 7l g
Teachers must not engage every child in class with the conviction that everyone can learn mathematics
c et ) e 2 s T 1 5 AT 35 T g R R i e s e
D Children must learn all the formulas by rote
T B YeaR it g

Correct Ans : B

Subject : Mathematics
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Q.No: 142 Rahul is 5 year old boy, whose father is an artist, who paints very expensive painting. Rahul has since very childhood played with colour and likes to draw. He starts drawing a
2479330

A 5 I BT ASHI 3, foraes a1 T FOeR T, o agd A Ufe ord 1 g0 S=u F 0§ Jaa 97 § SR I R S WiE 31 95 4 T B SH H I HRA T IR &aT 7, R BRI

Law of Readiness

A
TR T FEw
Law of Effect
B
1T &1 Praw
Law of Multiple response
Cc
g Wi R
Law of Partial Activity
D

Simp-forar &1 |
Correct Ans : A

Subject : Mathematics

Q.No: 143 Given interchanges: signs - and +, and numbers 4 and 8; then the value of 16 + 4 - 8 is
2481017

3T 0 gexa (S0 F ger): g - R +, AR WO 4 R 8; W16+ 4 -8B AR

4
A

4

16
B

16

12
c

12

8
D

8

Correct Ans : C

Subject : Mathematics

Q.No: 144 Achievement tests are:
2481380
(A) Teacher-made

(B) Standardised

IUdi glem §:
(A) Rig fffa
(B) HFPIPd

Only (A) is correct
& (A) T §

B Only (B) is correct
¥ (B) ¥ §

Both (A) and (B) are correct
(A) 3R (B) T WG &

Neither (A) nor (B) is correct

A (A) FRAG (B) TARE

Correct Ans : C

D

Subject : Mathematics

Q.No: 145 Student’s performance is compared with other students in

2481657
.......... 7 B & Te= 3 GOl SR B F WY B SR 22
Standardized Test

TSP TI&0T

B Essay Type Test
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ey TR T

Objective type test

C
THAE Theor

D Norm referenced test
R deffa wdam

Correct Ans : D

Subject : Mathematics

Q.No: 146 What is the No of students in micro teaching?
2481795 gex e A Renfidl it wem e &2

oo
T
<
T~

Correct Ans : B

Subject : Mathematics

Q.No: 147 Objectives representing the purposes of instruction of a teacher are called?

2482538 e & T F I B1 UG $31 9t Sl BT R Hel ol 97
A Performance

B Instructional

c Attainment

None of the given options

P Ry g et 7 2 3 A
Correct Ans : B

Subject : Mathematics

Q.No: 148 Running description of active behavior of a student as observed by the teacher is -

2482539
Rief RT 3@ ¢ B F Wihy IagR F1 99 v g -
Anecdotal record
A LY}
SUSHHATHS Rl
B Autobiography
STHDYUT
C Interview
PR

None of the given options

° g g et & 2 w1 T
Correct Ans : A

Subject : Mathematics

Q.No: 149 60% of students in a school are boys. The number of girls in the school is 300 then the number of
2483790 oy is

TRl H 60% TTH W5 & T The! H w4l AT FAT 300 & @ A5Hi 6 IS §

Ao
.
¢
o

Correct Ans : C

Subject : Mathematics

Q.No: 150 The total of ages of A, B and C at present is 90 years. Ten years ago the ratio of their ages was 1 : 2 : 3. Then the present age of B is :

2483887 A B 3R C 3 aAM MY &H1 Fa AN 90 T ¥1 10 O USA 3% 1Y PT SUE 1 : 2 : 3 Q1 Al B B IAUH 341 B-

30 year
A 30af
B 25 year
25 3§
28 year
¢ 28 @
40 year
b 40 9§

Correct Ans : A
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Subject : Mathematics

Passage:

Fz s S el S AL o F i qu.;e’dv.-:wLuut;:;_tﬁ;/ g
It 7 3 I g J jedi g
VB LU L.b.,v- L., ILFG s S Sl SRS e O .'L’/DJL} P

72 . . o L e

Lher el Jsuioor o @ p et LZ.@(’L SEaK s SF L 2

=

&

-‘rb\,u u,l.'z.,-/,' -‘rﬂ/b/auhu LANGLNE S oy eF

PR SR VT JJ./V-./, AR ub Uukv"'/;";,,-'/.ru ..f'
:JL.)_/.C,":’:&U" 7¥ ,.(l: u/.-/'~i./__g_l.>:_',bblz__b/r.-‘_f_¢.u, o181

“,

e~ ~‘~>.J'u-/ LS AP P L'

QNo: 151 gz o7 s d e et s

P

A [PPSR I 4

P SR N,

B (SR ERIO P [Py
c il
D o= :"L‘(JD(JL)’/ZLI‘;

Correct Ans : D
Subject : Urdu Language 1

Passage:

»

* [ - " s
Fzzh o sl SUAL LS FE g s Zasb s,

LS 2 PP 56,06

&g & -
" 'du.‘:gb s I-H_JI ] RPN LIt A
2 R
b,‘_,'u:f'c—'/—ul‘? Sz wll(‘ ki) -'—'/:i.[_d.aﬂ (b E
- (= s . 2
FLOU 20 MEmNE P10 f sk S LSS S 2y o F

P

- c.c)'e/:u"LUL? ‘f_f\_,-.f, JUL/‘,..'V«-U A'wu‘_,- i e L

5

’ Y P H g 120,35 . pod 3 ~ s
:KJLa:.db/:é L,'I/’:”.-:.(l:f'u/,-/,d.l.a.b::,;v,'e.b/r&.gu;/ ol

AV PRSI AP P b

A vl/r/,du‘ ;5
rd 3

B Cat§fE
72 -

c f",ulc'/:}»
- o

D R

Correct Ans : C

Subject : Urdu Language 1

Passage:

gz § el S AL S Cuz Zobgdson S ﬂuL::;_tflJ/ ”

&

S b LB s s S S AN E

ATYY
(.:

Laer e s L,/'l(' 0'&']554::‘1,[_&:(4& FaKens S

= (= TP o
SEECT UM EENE P/ sk

el 2 L v it G AE NGB i o L
SL &t (G LB ped e un For Gl

«

S ou G 2
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Qo153 02| S o1 L matas

B Cl 74
C ‘-."" L}_}
D L,l: (/

Correct Ans : D

Subject : Urdu Language 1

Passage:

x
Fz = F sl JRZ S FE s s et iy

<
Joaul i bt b B s SE st i3 F O 516,46
. . . §73 » N - . -
Ltiher et s g o i p 2 tad LE P e NE 2
- 5 &
Lo /I.ﬂ,-/:lu(/i/b/cul

\'fl

if.

(:/.:_u‘b/:g'/L

.-(JLLQ'/;ZV s G L L& e s FERGE

‘j.f\_,- e AEEE V-ub/l.luwg_,’-'z/, L/.'.Q;.fu,-.{'

ie . .
_ (_f.k?'.l.g,'.f/‘ru.,l 2 Q./é

Q:Now 154 e& Ll ,Llu/
A R 9y

B RPN

¢ i..)_/_L,g._,;:i:

D Zi Sz ¥aty

Correct Ans : C

Subject : Urdu Language 1

Passage:
e ' ) . - o o 9
Fa (el SR S “r.r’Jwil,',_'_’bJLquL.uut:r__':b/

S ol bs s LB s S S A S iE ub'e’::u’,g’,c;w
Lot 'J.:.I.J_.Jw, (I L,,n(’ -lk,l/\_,-n,zi_f_c./(b Fa sl @yf'.:f

(: el

_— F oo ;
IR SN I PAZL f s kbleS NG & S 2w 0E

(‘-é'c._ub’:u(L: “J.fu- ARGt ub e ""/,J.‘IU‘:—'(A-‘L‘,')\J{'

FL e & 2t (G L0010 ped o saFonGl

&

(_./’/J.L\_,./»ﬁ,.la_.-./ﬂa.)-

Wi

Yoy
A Ji
B =l
1
c Uil
D Js?

Correct Ans : B

Subject : Urdu Language 1

Passage:
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., 2 o
Fzzh S sl SAL LS FE s s

R r s & ael e r e
‘,P.,u,_gbyv- 2_. (R SV RS AT A AT DAY lb/(vd e'L’JﬁJu,’:L’
_VL,|‘.:74-'4’_L,|9., (P2, b.l"{/ 'L,'/_— /_if-.

1T

LFe S G EME 21205 it
(f-"a_u‘e@u(J_':L:?z::buguI/’. '»L/ulv-ub BB /’/u,..ft
S &t (el LE e ped e s Foagl

= 7~

e S Bu e am e

Q.No: 156 s
P T

A k!
B =B
c il
D SRl

Correct Ans : B

Subject : Urdu Language 1

Passage:
j - 3. . s..':r o e S o ., ”
(B o= S PP L I ~, q:;_,L)ll/',;h,',ug,1L_L-,'u-bé_':l//

£ oenl e : My

P.,u,_a_b.,\_,- VS RF{-SV RSN LTSI A SIS Flpas J ’Lup;u’ i

Lhdser el Jsuraa Gt 2,8 LEFe kst SRz

. = N
_Fheld "L,JL’I\,-J,"V’r/'/b/c-;)"g_, /'IL, IJ l}'b(J,':a' o

. 7~
CIP=T STS PR TPty /.f\_,-/_v‘ ul/c'wu tlu,uv-'/J VC,/;,—;L-J

:Jtédb:ifu yray (l: u/:/,iL.f.bu;Llflgl//r;_c.u. o481

AR L m e 2 K

Q.No: 157 ?L:Lk:’b’(s’,-:

A

B dee

c s

D L;'/L-.-,:'/‘

Correct Ans : A
Subject : Urdu Language 1

Passage:

»

x P
Fulzz el S AL S FE e wn s el S50

ls s P | TV P U b

‘,_v:,u::z_l_:,;_,.. ~.)_. NIAFGad s o8 Gy B3 US flu/f.,g 2,070
5 z . o Fe - "e

Lhdrer el sl G peiad L2 (s a2

FRlF RO MENE N2 skl

e dlni 2 L e )i RSB LS s o L
:(.ﬂ/:ub:i: 2 5 G .,i_/__gl;, ._wble_b/uir_uft-’ul/

“«

_/_f,k'w.l- ST AP P b

No: 158 o 7 &
= & LS,

A
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/
=3 1

ed
B Ry 4%
13
c =/
D r;_uﬂ'

Correct Ans : C

Subject : Urdu Language 1

Passage:
v /_L .x;/ X J—*’“ Tl e JB‘ IOy E Lt :(L:? PRI Py ”

~ - 7 ., - - s e
U.'_'a""_")JE;!"LL}JU{.:«/,‘/UK:!K.'__J”-l’.‘,‘&-u’bu‘gz!}a"UJ;’[’Jl_’r’tL' &

“«

(_{ S g "L/__

; "i.;_,’h.f_(}l_:d,t,Ldfc_l;:.t,fu‘!-~- ez f:.:_

- .:.Jbb..«/(,..'aé..u%../u

QNo: 159 _ =z . . -
e (L :_l(bt‘hrt‘PJv-a-/:Z

A VIASIEFAL L 2
B Wit 22

c ELtes

D Gt

Correct Ans : B

Subject : Urdu Language 1

Passage:
. AP e w23 . (O3 I R S o
U £k '_,wxu ST L e S N SE Ly LR sl e Ut

P 2 P S 22 28 7 e Mol ¢ 3
Uil 0ie SuF en O g ) e b ehina O F bt Sy

- 2 Jo1 = > .
;:'L‘-[c.u,L;;:,q?gc.V- EL}: oS e g
./'_..S,w'b/u.f_»?d,L " “'/_’.J =2 -'L.LT;/.-::”';_,'.' U S S e b1 iy

i r"LL,wUszLU Sl L/u- TR = SO IR C- R PRI TO

A X

B éfpﬁ e
c Sist

D L"’ " e

Correct Ans : C

Subject : Urdu Language 1

Passage:
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S e i M e S ot o B L nd St

s - 2 .1 s = s e -
M e Uil e o Ut eSS e F Ut VW GT5E s pnln
- It =2 (e
€L -’L,thu_‘_'LJ —e LT TUsE C el 2 e L iy

Q.No: 161 ?('—g'u(“ T
A Ayl

B Pyl

C _":'/:.7'

D e

Correct Ans : A
Subject : Urdu Language 1

Passage:

Gt B T e e sl SE L L2 Fe 2

(925 ré~ 'L"GUJU/VJ./‘U/. ._A —.'.‘,C-L,'L?UL/',/vlL/lerI'La-'b L
RTINS

& J.o1
s, Ry IPIPNE Y ST

-;(‘

g
o Ja¥usadlat “d.d' J(-QL-I-:: RUSEC

;.(i;ﬂr('_dlgdthdij;) 3 J/J-Ju' Jat&reaf s E st

QNo: 162 o175 7 2 Sor s bt
A _‘é_‘/;_,;-bté

B RTINS

C teudefie#
D G &

Correct Ans : B

Subject : Urdu Language 1

Passage:

/
A s
B A
~
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¢ -

/=

D s
Correct Ans : A
Subject : Urdu Language 1

Passage:
G S i AT L2 I =2as_ 11 (13 (5 2f il S 2
U/- '\.;V‘/ L.,L L'V-‘é..'ub._ﬂ:i_.g', »’Lut"! el Y I

UL é’.‘ 'E/)“QU/L}:’wﬂ/' / ”'G—L,'L?VLJ"/}'UJ; 4"&4—' L

e ufl e S5
PR LY. - _;(_r.u-,mv Usy
<

- o 3. s - J .
ira Jlr’ad'.;uzbl.u; Py -‘L/ru‘:- ujru_'};j._: oo f

B S
C =i
b 2

Correct Ans : B

Subject : Urdu Language 1

Passage:

U‘ﬁp_ -_x» /w_ ,I’U;‘- L Rl |5 I-LJI Lut‘h P YRR L—"u':”

»
e Je o Gt e

'
RSV 4

Ui fé' 'bv_uzu- =i /:f

z:'L‘,{LU?_:J:,{?.:;é.U-SdJ XIS = omly b_J,:'L':'
T ok 1S [ 17 (= Ews Iy o
o IaEUL R0 V_-r;a‘ J(-QL T I U e L EE e bl

S
.,.(A f’rag,.:u;bl.u el "‘L(J:-,. u’:._,_‘}c;:a_;:,/ O ._anl L&«‘:Jl

_ ('_va...«/g_,.l c.L. Ul (,"').‘?}LL,:J:"‘".LV‘::':JJ'_/}?QV

QNo: 165 ¢ o 37

A .:./:l?
.3

B ~a

C L;;—'

D =f

Correct Ans : D

Subject : Urdu Language 1

Q.No: 166 ?_gjjﬁ{c.g’b/-&fc"’éy

A B eI S M (L S e
B _uf/l? L,'(C? 7 u(u" ZA Jis1 550 Al

C _u_f,—(c‘ FRE NS

D U5 r/r_-"/: =3

Correct Ans : A

Subject : Urdu Language 1
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.No: 167 - PRy iy
QNOHIST o i i Ve A S

A blezp B U o
B bl :: ,-,f/_., s

c bty AL

D BET L g

Correct Ans : D

Subject : Urdu Language 1

Q.No: 168 4 4 g
Sadnl A E des
A A
B =L
c #7
4
D el

Correct Ans : A

Subject : Urdu Language 1

NI e Ymar i Ses

A g
B 2
c [
D =

Correct Ans : C

Subject : Urdu Language 1

Q.No: 170 ?.:‘_L-'ﬁ'lfa..gb/dkz'/:
A LS

B Loy S0F

C .lz’;fra.‘bb“—'_..

) £

Correct Ans : D

Subject : Urdu Language 1

Q:No: 171 ?‘gt‘_v.‘._.'//bu:(u: UP‘.)_/_LQ:A’EE
A s

B = i

C u.-".:rh}/:‘rj"‘

D Jr/”l,:l(“’

Correct Ans : C

Subject : Urdu Language 1

.No: 172 Ve R
Q ?(.'_,y/,i KURd o ‘,t:._vuff

A _:) g(c,'l,:f.:_(:; UK

B b S

Fo o2
Cc
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Y u(r‘:l"' .:_(:1"‘(.‘

¢

D S e

Correct Ans : C

Subject : Urdu Language 1

A J ::_,J';
B L:"- =
c G e e
D -]

Correct Ans : D

Subject : Urdu Language 1

QNOT 74 g \f_lerk2 Lt

A tbwtf Lot

L s Ol (8 > e
B Eos2e U RIS
C Ty (19409
D EETPRE: /:4-"1};

Correct Ans : B

Subject : Urdu Language 1

Q.No: 175 fe bl -/LL./- ”bJ’ gg;
A S e

B L-A'f;

c ,L;L;.‘l_nf;:,-u,

D (e

Correct Ans : A
Subject : Urdu Language 1

Q.No: 176 "L,b _‘/"«,L'

A YL Ao

B Errecbualdid LS ladls
c LASK b s

D TP (}"V- R_L.C

Correct Ans : C

Subject : Urdu Language 1

Q.No: 177 te et Ly F
A e
B .‘:'lﬁ":tﬁ:ﬁ/:.{
&
C ORI )
D l‘::b’u‘-:;

Correct Ans : C

Subject : Urdu Language 1

Q.No: 178
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B Uz,
C oo

3.
D ‘,‘!’/

Correct Ans : D

Subject : Urdu Language 1

QNS¢ o Lol o o Setsdbn I
A IuE s

B GIEL G

c % «L‘l‘f—'itéa?

D AU

Correct Ans : B

Subject : Urdu Language 1

Q:No: 180 el e SRR Py PN

A ICal™
B Sh s
C 5 Iy
D é-‘ 7

Correct Ans : A

Subject : Urdu Language 1

Passage:

g"i.g’l_l;:gﬁf:/‘{_:_r:("ldku N Z2eler S sl ._,"_L'L/’._/:-

s T . - p % T T
;ﬁ:‘i;'d;:g.’gul AL /'/L(‘A;LA' e s ni S E (I r- Ryt

: . = ¢ £ .. e oz
l;‘:.-,-g,);,fl,.-lt,-f-;ft.)_.é.v,-é.;:yﬁ;f@” RER; (zg-u)'{;ﬂ-:;u:_’-d(_.ﬁ‘z

Z

ﬁ 14 £ - a2 .
IO~ ’_/:-.-,"L‘::_._'Jli‘! JL:E/JI,:I z’_lu’}_é;,:’rg"/_v-',‘r Urn ol e S

3

."'__/_f.'/levgu‘:p(ktni—(_—ﬁ{

L -
LR AL
- v

Q.No: 181 s £

B _,1;1/2’.;_(',
c ¢

P
D M fn &

Correct Ans : C

Subject : Urdu Language 2
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Passage:

o2 .
et R g A ek T L e Uit U

P
;"‘

_neh 2 (:.

{_/:r',é.-:u:u( TS Ui s f A NGNS o

« LU
_ (-_(,-'L}’.:_:’l
z v

QNo: 182 ,  2s¢(. ¢ 2
Rry

A )/ _:_(:.'f.’_.:l /i'
B / _-L'/F v
c AR
D ;_(,- U -.-.

Correct Ans : B

Subject : Urdu Language 2

Passage:

3
r
(1
C
=
(‘\
‘C
Ve,
W
—\-x
C.
'\v

; . 7 )Y
real 2l S E bl Gl
_EASE JJEJJ'LETG}EGJ‘I -:;h-:baa:,:fu':,:_;;_v?hﬁu_:

2, cFq 3 2
l/:-- LA MNE AL L0 Z 0§ Cag /r,vfu)'hlm,-guy_’-d'—/:‘-’:

2 ’
ittt e Rz s D Sk TN L e e it U £
e g 4(:_(:

T\ A A ALt A o 2

« LY =
e ubc_z:’L
- '

Q.No: 183 7. 4
Wi

iy
. “
A (9 L..'{/_/‘ﬁ
L -
B Py PN
P ‘/
C e
D S d/—ﬂ} ::/L‘

Correct Ans : A
Subject : Urdu Language 2

Passage:
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S s S '://..:r:ﬁ/d?.f;:"/:”-.-rd::(u’l|"/:.wl ‘;_I_I:_Z:’-— SIS =7

ST k. ":l ’Lb 'b,-lz_l 'I./:_/-'-;jl/ -lﬂ;u:’::,u:'u::q

.’_-/:’(.zu:f u':u( T,‘/u_»;(:u_.-t, il ssalre s ':._///-/L.f'u., LLL,._/—.

f/"_(,"‘fr‘-.’f@

Q.No: 184

c Lla C e
D (XA 'Ji':: Atz

Correct Ans : B

Subject : Urdu Language 2

Passage:
"LJI_I:'J?_/._(,( 26'/’; u':.(;jl(.4.».!13'Lrg_,'_L_L/‘Q/:-.-;_,";_/'l‘/sﬂj.;”

. . s Iy 3
:/:/"w:l:..ﬁz,'l:lbe/L(Jub"ru ry C?J.'a_: E b At

-

O ;/__/:‘; __-_ 'Ivl lbb\_,'b."(_.l rLL.__/.._ 7 e .|'/u..-pu.n./.

c
_;__'.'Q"/.’?/ ES

c_/:‘("w.': u.-g( 7.0 ::.fq,'::l_f}::gf,:.-?r ::_lf".»f_f// ,L..fu-. tw_._/—_

« P .
. r_(;‘J”u’l
: '

: N
Q.No: 185 ?uﬁ'(—'—d—' R /-: '/p/l/-/uu/”b I?r‘lu

A Ry edl
B .-/"/r-l

C Pyl

D ad
Correct Ans : B

Subject : Urdu Language 2

Passage:
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S s S '://..:r:ﬁ/d?.f;:"/:”-.-rd::(u’l|"/:.wl ‘;_I_I:_Z:’-— SIS =7

ST Ll ":l ’Lb 'b,-lz_l 'I./:_/-'-;jl/ -lﬂ;u:’::,u:'u::q

Vo fAANL NG o

f/"_(,"‘fr‘-.’f@

Q.No: 186 P S z o 2
tre ‘e e S LA e fen L

D ~

Correct Ans : C
Subject : Urdu Language 2

Passage:
St '_/_s_‘/,-(',d‘/.é:”/:‘ftd:: U (',.-.u.nl_":ﬂ/_/_./_/:‘f Il
= 5:":,-ld,:L_,.,§,.-l c_l'r":'igzo_f/g_:'f,ﬂ':u 'L/@{.ﬂ i'..:( s «2.{' |",.<‘~.- chr'l

s
‘a» N

¢ 1'/‘_, 4:1:4 RIREADY ~.:b)k:,i:fg-/:§‘gpg..’ﬁw:

> . - ¢ O3 I O ,
l/:fu(,);_,ru WELL L .f_';z‘gfb‘,-(:u RER DT I CITIANLIN P
S

_._"_".7/_//‘:4“}_'

Relg - - 2 s
St .-.»__,:L—’vu'wu,'u M TN e e sl Ui ewl Uds £
a2 .(:_(:

./_/.«:r',d,v: u:u(r ."t,v.'q,u:y’i :Q/.;.-l;ru:slfv._z// ,thiv-, Wi«

« L -
_(‘;,(j'\}’c.__'{l

C /:‘;/.’
D .'/lﬁ',fb

Correct Ans : D

Subject : Urdu Language 2

Passage:
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S s S '://..:r:ﬁ/dkf;:”/:’;rd::(gjl|"/:.wl ‘J_EZ:’._ SIS =7

P . .
JI,-I,,AG:“':’./_/:{?,; herdodnme il £ st Uil U £

et B G T U eun s A ANL AR o

_“/"_(,""}jr‘_jg

Q:No: 188 ‘-'L-"'U/z;_._./‘f;' ,:C' .:,L"U-u(u.'/:'“fu'.'_.:','.f:'.feﬁl.u::-,

A L-_',._-_._,'.f._,,l',?_’_(g,é_-:d:
B oo

c EE PPy 4

D Eisen LE

Correct Ans : B

Subject : Urdu Language 2

Passage:
i oS F cofbEL S
Ul et LA st £z
< bl 7 /¢ /:l/‘éuu:"c—utié’-
au/.u,r._» USRS u"/l(-h‘:""é-'-dtrf:‘-"
“e e L s Frausid Fe
R ST TSI U o Iy
A SuT
B :(E,L.'
c S
D .'U:

Correct Ans : D

Subject : Urdu Language 2

Passage:
Ly
apﬂ..q"’g(d £ ER "ug‘," ’
o e &, LALLE st 4 ot
e o linT e g K -~ | a
bl vl Fll e s 2
- 2 & -
%&/!Jafvﬂfuf:uﬂd‘?' V"/L{./."G—'.”: r’;«
P I X I
e Gl o Plausiind Fe
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Q.No: 190 (_-‘:._g[/:bl_ el
A ks

B b"é-/j—';

c b’i.;&f-/--b‘-'t‘

D 5/"7—“""";

Correct Ans : A

Subject : Urdu Language 2

Passage:

- O
R TRCVE g F-A ,f
; =

A

- r
_Luu:’u:: RO U

- v s
q_uu_-sdb(;,i U e

< u'u,u/, T USRS

-
Gy L,.;JLQ'I:I

Q.No: 191

r_u'u.( ub.L‘

v

5
S

A Ust AU U2

Al srte s é’_

2 Ry
SR (,«3

; NS
/L'gu.u'_;:u/ P

Sl A AU FEES et
A BN
B LR Ur:/-—‘ u/
C - ;_f.l-“ u( =0
D =20 Lf: (-

Correct Ans : D

Subject : Urdu Language 2

Passage:
- P
PRIV oL Y- ¥3
5 =
- - a2
UL et

e GundBEiés o

C—d/.‘/¢f-_ﬁc}:’u': \J.'?.-g,";;'

“« e £ e
.L-UV.VLJ'JLU 12

Q.No: 192 ?.gu/:(u‘//:L«ALfﬁ
A SusEs

B :(u:’;w'

C ,u( 2120

D .'Ku.',:f'

Correct Ans : D

Subject : Urdu Language 2

Passage:
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Q.No: 193 fe “U'al(./;”v':dk‘:[—fk;
A P TR

B L'::;_,EL/‘: Ul

c E U U

D HA b2 UL

Correct Ans : A

Subject : Urdu Language 2

Passage:
codemlelf  cs oS
el e i, AUt Aoz
.f_u'u.'fdl-;(:'/"u‘f?: /:l/L/_u,t,c_:fla_J:é
PP SN et (e
“e-u'v-" L.:Uw‘m Sl u(/“rt’—-vh
QNo: 194 ¢, 4 Fo o i pEL C,sf.f_u’/
A .:_u:':l,.-_lm’_‘/f
B (;_LJ;'JL}‘/:—;'
c WL e 7,

D c.u:’LL.»:g

Correct Ans : D
Subject : Urdu Language 2

Passage:
r_L,‘/: = d’% ,; (A'_g'-z,'(d. UF.L J Wi
Uy o e &, LA Usit A ot
(_;.u‘u:sdl,:i-,i'dlf_._, /:I/L/_u:,:flc_d,'ﬁ_:.
< u‘-,,u,f_;g’ SV v s r“.‘? g
“_Q G J—:’KJE Sl Syt \;f/r’(_« (1]

Q.No: 195 "r_y’:lﬁi’b’ “L}"—"”

A ui _o’"
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D gt

Correct Ans : A

Subject : Urdu Language 2

.No: 196 4 2 I3
@ ERRE Gt
.0 k
A /.'//_:u. ISP PP
B J.'///,__;,?l::.t'
. Z..
c 4:(//_:0»/
D Se Lo

Correct Ans : D

Subject : Urdu Language 2

NI ¢ (ol b s AL L S et
A g L.F vdr‘l

B = l?’-:/_.-'-.'(ui:’bv’.' (o Jl_b/_

c -1-&%57 Stz o dUs

D . t‘,‘r:/« (& L_*CJ@J: u‘f f;_“f:c-,;&gl,

Correct Ans : D

Subject : Urdu Language 2

o

Q.No: 198 °r_rf oo 8 A L ys ke

A r_L‘/r:.«V'Z,_,Fl:”!'o(-'g}u(/féuip.[ - %
B .ab':b.ul‘ :(;_f/!‘l'u( A ";.-:.J_U..(

C /_'-t‘/(fv,el/.' L

D r_.t‘, 44&\4-(/!/ /-—u~ ZV AR L,

Correct Ans : D

Subject : Urdu Language 2

QNo- 159 ?.f_y’,ﬁ}d;gbc}::;unui"‘

A rl;b,Lw d s

B et W LA S el 200 L

c e Gkl wae SF LG L Dot BT 8 r
. g A U

Correct Ans : C
Subject : Urdu Language 2

QN0 200 ¢ oot t

A {'_Lt‘l_:,'/ /»b_)‘/b r;._:::l.
B e A el

c ./.'_JLs;/Q'ugC—j

D .L)_ZU‘N.«Q L**i:'t—**'/c.._f!,

Correct Ans : B

Subject : Urdu Language 2

- . - -
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Q.No: 201 (.'g}l"'/l‘/c._u.igj:: Wamwly u’fl Jax r:/r:/'.';‘._'é'..

s 2

A gnJ s ’—,"-—'vg
f P ' <

B Crard L Us

C €y 50/ &

D u',::.-:dL-D"i L/.u_'_;

Correct Ans : B

Subject : Urdu Language 2

Q.No: 202 . ~ < -
et L E S pudia LA

WS L e,

A AN E Lty Pl
[ - TR S
B {_.L"/(u Umdte /f}i«"lyu i
.. 4 4

c c_-t‘.’jxg_,'lg.:.?u'r’la./‘

IR
D e bleds Lo 00 L
Correct Ans : B
Subject : Urdu Language 2
Q.No: 203 iz X

?‘:-_.L_J’:l.“;(':l.:__.xe’u L/.c,'pg(u_-f
A AR
& r
B voCu
C g J-‘LJJ'
D Carasssc Ao
Correct Ans : D
Subject : Urdu Language 2
.No: 204 P - o -
Q S‘.T_E:C,,-/'f.:ulf' IS ST
P

A (=N
B =
C g
D Gl

Correct Ans : A
Subject : Urdu Language 2

.No: 2 -
QNOT 205 0 x>tz (5

A b’::(J:‘{
B Epa
c gl
D §J £

Correct Ans : C

Subject : Urdu Language 2

Q.No: 206 .- 3 P :
Selufaulin c):fé'. L st/ f.—eu.-u*'

B (}‘?JF“

>
Cove

. -

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

54/91
Page - 54



Correct Ans : C

Subject : Urdu Language 2

Q.No: 207 05_933-,':7&/("‘63?/—‘
A skl

B A0

C B

D A ’h"*/f &

Correct Ans : A

Subject : Urdu Language 2

. .. &
Q.No: 208 ?.f_f’ﬁ'c__,f‘b’:)_r’u(-,:lu.'.:,l_a:u(ugi

A - A ISR N

5 by iy

c cGualfudd Loizi s

D *T—F/"él'/:v.l»-’!u(.ﬁuf&-';' Z-U‘f—'lé"‘"%"

Correct Ans : A

Subject : Urdu Language 2

Q:No: 209 fe o d:fr_g,': g;‘l\f.;,‘_‘_,:‘(",/:

- ; . 305k

A T srhbe T :u"‘/:’d.,,lfi
- e ey s Ao e

B I S D G IS S Z.g’”,:a,-.,«l ydl
- P22

[ b}_@:d):u” L& p
- (" | W (= {;’.

D s VA R pCay. Iy g

Correct Ans : C

Subject : Urdu Language 2

N0 ¢ wee p R FE L LanP LA mod S B 2

A ...'/4,- _‘/?:/,

B l‘ e/..f:::'
[ LG
D S,

Correct Ans : C

Subject : Urdu Language 2

Q.No: 211 Which ecosystem are intermediate forms between terrestrial and aquatic ecosystem and contain species of plants and animals that are highly moisture dependent?
2469376

F W TRRRfe! & vl iR Sefln wiifRufaet @ & e weradf w0 8 ok 3 el ofk TFaRt &1 yenfaal e § S s Tl R fR g 82

Grassland

A
T A
Tundra

B
=

C Wetland
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A

Fresh water

T

Correct Ans : C

Subject : Environmental Study

Q.No: 212 Terrace farming is practised in

2470126
o P &t B §-
Coastal areas
A
aé &
Deserts
B
e
Hills
Cc
RESEEK]
Plains
D
Ferh

Correct Ans : C

Subject : Environmental Study

Q.No: 213 Continues production of the same crops result in unfavourable result
2470157

R ts R wual F IaeT § uRkom g 3-

Lack of nutritional

iy el B Bt

Soil erosion

T R
Acidity

St

Alkalinity

&

Correct Ans : B

Subject : Environmental Study

Q.No: 214 After discussing about crop plants, Reena took her student to the crop field, she wanted her students to-

2470297

wHa MY F IR K g9 B & 6, I o O 3 vEa & @ A 7, 95 a6 R 5 39 om-

List the crops growing in the field

A
T H S arelt Bl @1 Gl T
Connect their classroom learning to real life contexts
B
Fb el ARH B IR Sfiad & Yool 4 g
Understand the process of farming
C
T 1 wiem ) e
D Hands-on experiment in the field
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A BT SFHT HT U B
Correct Ans : B

Subject : Environmental Study

Q.No: 215 “Environment is the teacher and the job of education is to make the student friendly to him,' whose statement is this
2470387

e € e § Sl e 31 T O B I9H ITE T 37 I8 P e 3

John Dewey

A
it it 1
Chapman Taylor
B
AT R BT
Tojson
C
<o T
P. Vivier
D
@, Rfdmz @

Correct Ans : C

Subject : Environmental Study

Q.No: 216 The lecture method is-

2470482
eI At 8-
Working a project
A
TP TRASHAT R S SR
Visit to place of interest
B
3 P ™M TR AT
Verbal narration
(o}
AEF T
Recitation in group
D

g H AR U
Correct Ans : C

Subject : Environmental Study

Q.No: 217 Among the following options which earliest Cities had a special tank building constructed, archaeologists named it as the Great Bath.
2470559

FafiiET e 3 9, 7 631 § 9o ved U AR S yae o1 Fafor far T o1, RaafiEl 7 39 e 9 A

Harappa
A
)
Mohenjodaro
B
HeTeieg!
Chanhudaro
G
Chanhudaro
Lothal
D
e

Correct Ans : B

Subject : Environmental Study

In which nart of India. houses are made un of wood and hamhoa?
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Q.No: 218 ~

2470620

URT F 5T 4T H R ade R 919 F 99 1 &7

Bengal
A

EUIsH

Punjab
B

Tore

Assam
C

i)

Kerala
D

Eac)

Correct Ans : C

Subject : Environmental Study

Q.No: 219 Shifting cultivation is also known as;

2472120
oH At B 39 TH F 2R S S
Slash and burn cultivation
A
W Gs 7 &
Afforestation
B
RGO
Plantation agriculture
C
FaR Y
Composting
D

arg §4 A
Correct Ans : A

Subject : Environmental Study

Q.No: 220 Which gas leakage took place on December 4, 1985, in Delhi ;
2472145

R 1985 &1 fewel & 17 @1 71 g gonm g

Chlorine
A
FRRA
Oleum
B
e
Carbon monoxide
C
B AsieES
Phosgene
D
LanEi

Correct Ans : B

Subject : Environmental Study

Q.No: 221 Animals which are active in night time are called?
2472383

Iy 7 wipa T AT oig FEaa & ?

A wild animals
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TRl AR

pets
B
LIGCACIECLY
nocturnal animals
(o}
A S TR
tame animals
D

WERT B T & BT

Correct Ans : C

Subject : Environmental Study

Q.No: 222 Intergeneric hybridisation means?

2472489
ZeRARF FoRu 1 a7 82
Crossing between plants and animals species
A
At iR STHERT ity F i B
Crossing between two different species of the same genus
B
T B ST 3 & Sre-srer et % e HiRiT
Crossing between different varieties
C
Tty et & e iR
Crossing between different genera
D

faftr oot & e iR

Correct Ans : D

Subject : Environmental Study

Q.No: 223 By adding soya flour to wheat flour the bread will be enriched with which of the following components?
2472950

g & ane | T aret e & ois Faffed & @ 6w uee 3 age gufi?

Lysine
A

R

Fiber
B

BN

Dicot
C

TR

Iron
D

e

Correct Ans : A

Subject : Environmental Study

Q.No: 224 In which year did Rakesh Sharma go to space in a Russian rocket?
2473920

R XA o o w4t e § ofaler A MU A2

1980
A
1980
B 1982
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1982

1984
C

1984

1986
D

1986

Correct Ans : C

Subject : Environmental Study

Q.No: 225 Who is the Director of Indian Institute of Space Science and Technology, Thiruvananthapuram?

2473974
R sfaRer R SR Treifieh oM, fivaaqy & fewe o1 82
M.C. Dathan
A
.. s
Vikram Sarabhai
B
[EEL I
Praveen Sinha
C
wrdtor fer
D. Sam Dayala Dev
D

2. I < 39

Correct Ans : D

Subject : Environmental Study

Q.No: 226 Which of the following telescopes can detect invisible gases and thus reveal areas of space that may be obscured by cosmic dust?
2474228

o & § $9 3@t el (fereiu) srexg T &1 uar @ gadt § $iR 39 TSR SiaRe & 3 &1 B U SR Tddl § O SRl yd ¥ o 8 Ihd 8?7

Optical telescope

A
YR gRE (3ifRwd it
Radio telescope
B
e ety
Ultra telescope
C
g TR
Normal telescope
D

I ARG

Correct Ans : B

Subject : Environmental Study

Q.No: 227 All the soil orders end in "sol" which is derived from the Latin word "solum" meaning ______. Fill in the blank.
2475678
Tt g} & o O § g 2 & S A Weg "Haw Y R g Pt o R Remwm W
Land
A
i
ground
B
I
air
c
g
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D stone

TR
Correct Ans : B

Subject : Environmental Study

Q.No: 228 Rashtriya Krishi Vikas Yojana was launched in which of the following years?

2475747

gt P RieTe dor Frarifee & @ e ad & g o 1 o

2005
A

2005

2006
B

2006

2007
(o}

2007

2008
D

2008

Correct Ans : C

Subject : Environmental Study

Q.No: 229 Bt is currently the only approved GM technology seed in India
2475754
i TR uRd B g Wi sher M i @
Brinjal
A
Euct
Cotton
B
DU
Maize
C
HDT
Sunflower
D
gt

Correct Ans : B

Subject : Environmental Study

Q.No: 230 Biofertilizer production and its use is not concentrated in which of the following states?

2475794
S 9 BT Iere R Swdm Fafirea 7§ e o B w8
Maharashtra
A
FERTY
Tamil Nadu
B
afirerg
Karnataka
C
Ficed
Kerala
D
Eac]

Correct Ans : D

Subject : Environmental Study
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Q.No: 231 Which of the following is NOT a plantation crop?
2475854

frofafaa & 9 $F-W geRie e 76 32
Rubber

Coffee

Eouil

Rice

ad
Correct Ans : D

Subject : Environmental Study

Q.No: 232 Which of the following are fibre crops?
2475957

1. Jute

2. Natural silk

3. Cotton

Choose the correct code:

Faffed 7 & -8 Wer vud §2
1.5¢

2. Ui I

3. U™

[ IS IH:

Only 1 and 2

Fad1 3R 2

Only 2and 3

Faq 2 3R 3

Only 1and 3

Fad1 3R 3

1,2and 3

1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 233 Where is the Shikara festival celebrated?
2476398

RIGRT TER Fgl AT Il 82
Loktak Lake

AHas A

Bhimtal Lake

e e
Dal Lake

sa

Illeanr | aka
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WISVWVI LuUns

SR

Correct Ans : C

Subject : Environmental Study

Q.No: 234 Between which teams, the first ever IPL match was played?

2476498

JEUTa 1 H1 ugar A g 40 & S Jar @ A

Royal Challengers Bengaluru vs Kolkata Knight Riders

aer AR TGS T BB ISe AFSH

Chennai Super Kings vs Delhi Daredevils

I IR o T Rkt Soehiw

Royal Challengers Bengaluru vs Chennai Super Kings

e AeoRi FTge T A7 IR
Kolkata Knight Riders vs Delhi Daredevils

PIBII TIEE IFSY T Reeht SIS

Correct Ans : A

Subject : Environmental Study

Q.No: 235 Which country has the highest production of silk?

2476616

W 1 e e a2 A gar g 2
India

HRA

Sri lanka

Eieal

Bangladesh

Fiees

China

Cicl

Correct Ans : D

Subject : Environmental Study

Q.No: 236 What is the next step in the process of farming after drying the harvested crop?

2476620

FE HU G B GG Jell B A F ST HeH T 82
Earthing

s

Threshing

AR 77 TR

Peeling off

ikl

Harvesting

el

Correct Ans : B

Subject : Environmental Study
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Q.No: 237 Which region of India produces four varieties of silk namely Mulberry, Oak Tasar, Muga and Eri?
2476627

YRA ¥ 159 &7 ¥ 3wm @) 9R 759 e, N aw, I SR T8 &1 I gl 82

South Eastern

A
afegor it
North Eastern
B
Eaci
North Western
c
IR TfE
Northern
D
it

Correct Ans : B

Subject : Environmental Study

Q.No: 238 Choose the correct statement among the following.

2476629
Frafaiea 7 & 981 $uT 1 957 il
Cement industry do not play an important role in the Indian economy
A
Thife S YR srfcraen ¥ U Heaqel Yt et A §
Cement industry do not hold a good position world wide
B
Ttife S g R 1o ot Ryl T vl &
Cement industry uses calcium carbonate as one of the important raw material
C
Ttite Ia Aeaqy o= A A A T S T Sioxmm Sk S Suh S §
Cement factories are not present in Madhya Pradesh
D

namey # Wil sREm T ¥

Correct Ans : C

Subject : Environmental Study

Q.No: 239 Which of the following is the advantage of the project method?

2477325
el & @ S aRdorT gl 1 an 32
It is democratic and scientific in nature. Helps to develop ‘discovery attitude’
A
Tg WPl ¥ Aaditie oIk IMAE 31 B 31 wRigfy 1 fiere 77 ¥ e axd §
It is time consuming and may need some resources as well
B
T T T § 3R T R o e 9 oft srawawd g wed §
Teachers need a high order of preparation.
C
Rt A1 I B 1 JI A ST Gt ¥
The experience is virtual-life based
D

STHT HTURA-Sftae aeia &
Correct Ans : A

Subject : Environmental Study

Q.No: 240 The scientific study of the relationship and interactions between organisms and their environment is known as:

2477970

Sdt 3R I TEiaRYr F S e iR sia:fpamsh ¥ I sremme & & 3§ b I e 82
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A Ecology

uRfifat (g@rareh)

Ecosystem

uifRufast a1 (swifrem)

Ecological Balance

R Uge (SPTaived Jard)
Enthology

Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow; —vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
"Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 241 “Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore”

In the above given lines of the poem, which words in the poem make rhyme?
A weak and weary
B pondered and lore
(o} dreary and weary
D once and over
Correct Ans : C

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”
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Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 242 In which of the stanzas of the given poem, the poet has used rhyming?

A first and third

B second and third

(o} all of the given options
D first and second

Correct Ans : C

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow; —vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 243 What kind of tone has been used here in the opening lines of the poem?

A strange and frightening
B tragic and thoughtful

C pessimistic

D optimistic

Correct Ans : A

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,

Over many a quaint and curious volume of forgotten lore—
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While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 244 In the second stanza of the poem, what has the poet described?

A his slowly fading fire

B societal discretion or preference

C his drunken merrymaking

D affording easy familiarity and sociability

Correct Ans : A
Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 245 What does the word ‘bleak’ mean in the given poem?

A nervous and angry

B cold and miserable

C powerfully persuasive
D a feeling of deep regret

Correct Ans : B

Subject : English Language 01

Passage:
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Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 246 In the last stanza of the poem, the poet’s heart starts beating faster. What does he do to calm himself down?

A he has to leave the apartment for the time being

B he talks to his friend to calm himself down

C he has to take his medicine which his friend gave him a while ago

D he has to tell himself that the knocking sound he hears is just a visitor

Correct Ans : D

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of someone gently rapping, rapping at my chamber door.

“Tis some visitor,” I muttered, “tapping at my chamber door—
Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—
Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door; —

This it is and nothing more.”

Q.No: 247 What does the word ‘mutter’ mean in the given poem?

A say something in a low voice
B feeling or expressing pain or sorrow
C a sudden and complete disaster

Alm mb o a8t Gmen mmmm s
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D ne state or peing neia in 10w esteem

Correct Ans : A

Subject : English Language 01

Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor'easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He's going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 248 Which of the following is the main issue being talked about here in the passage?

A supermarkets denying entry to customers during the Covid times
B problems faced by grocery loaders

(o} a storm posing threats in the US

D snow dogs facing environmental threats

Correct Ans : C

Subject : English Language 01

Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor'easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “*He’s going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 249 What is the view of the US government regarding the severe problem being talked about in the passage?

A government cannot control everything

B government seems irresponsible regarding this severe problem
(o} government has taken it seriously and is ready to face it

D government is relying on the US people in many ways right now

Correct Ans : C

Subject : English Language 01

Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor'easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He’s going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 250 The given passage talks about a forecast about something. Why did many New Englanders cheerfully take the forecast cheerfully and even looked forward to it?

A because of its weekend timing
B because of its Christmas timing
c because of its New Year timing

D because of its timing to Good Friday
Correct Ans : A
Subject : English Language 01
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Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor‘easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He's going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 251 The passage talks about a problem. According to Governor Dan McKee, what is the best way to handle this problem?

A people should stay home

B people should leave their houses

C people should go in forests for a while
D people should dig holes in grounds

Correct Ans : A

Subject : English Language 01

Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor‘easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He’s going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 252 *Delaware allowed only, essential personnel to drive in two of its three counties’. Which part of speech is the word *only” in the given line of the passage?

A adjective

B adverb

C conjunction
D pronoun

Correct Ans : B

Subject : English Language 01

Passage:
Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor'easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He’s going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 253 ‘Banned heavy, trucks from interstate highways for most of Saturday’. Which part of speech is the word ‘heavy’ in the given line of the passage?

A noun

B determiner
[+ adjective
D adverb

Correct Ans : C

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.
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A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor‘easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He's going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 254 What does the word ‘giant’ mean in the given passage?

A a very successful and powerful organization

B a person who pleads for a person, cause, or idea
C a name that has been assumed temporarily

D a disparaging remark

Correct Ans : A

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

A powerful northeaster swept up the US east coast on Saturday, threatening to bury the parts of 10 states under deep, furiously falling snow accompanied by coastal flooding and high wi
as much as 2ft of snow, were all in the path of the storm. Airlines cancelled more than 3,000 flights. Amtrak suspended or limited service on the Boston-to-Washington corridor. Officials f

Rhode Island, all of which was under a blizzard warning, banned all non-emergency road travel starting at 8am. “This is serious. We're ready for this storm, and we also need Rhode Islan
counties starting on Friday night. Massachusetts, where forecasters said some isolated pockets could get as much as 30in of snow, banned heavy trucks from interstate highways for most

Shoppers crammed stores to stock up on food and buy generators and snow-blowers ahead of the nor’easter, a type of storm so named because its winds typically blow from the north-ea
bought French bread and wine at the Star Market in Cambridge, Massachusetts, along with balloons and toys for his dog, who turned one on Friday. “He's going to love it,” Rudkowski said
we're going to be free and clear. No need to panic,” said McCormack, 51, of Cranston. New England supermarket giant Stop & Shop pleaded with customers to practice restraint.

Q.No: 255 Which of the following is nearest in meaning to the word ‘restraint’, given in the passage?

A indulgence
B freedom

C assistance
D control

Correct Ans : D

Subject : English Language 01

Q.No: 256 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

If she likes something, she'll buy it much it costs.
A also
B however
C really
D very

Correct Ans : B

Subject : English Language 01

Q.No: 257 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

Ritu went to get a drink of water her exam started.
A even
B before
C whether
D now

Correct Ans : B

Subject : English Language 01

Q.No: 258 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

Her death was very for all of us.

A hurt
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B gentle
C cruel
D down

Correct Ans : C

Subject : English Language 01

Q.No: 259 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

A body will be able to fight off the illness naturally without any medicine.
A flat
B fresh
c healthy
D happy

Correct Ans : C

Subject : English Language 01

Q.No: 260 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

There's no coffee - would you like a cup of tea ?
A also
B too
Cc instead
D sometime

Correct Ans : C

Subject : English Language 01

Q.No: 261 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

I suppose that might happen but it's not very

A likely

B generally
C actually
D fluently

Correct Ans : A

Subject : English Language 01
Q.No: 262 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

They're coming next week, I don't know which day.
A as

B by the time
Cc in case

D though
Correct Ans : D

Subject : English Language 01

Q.No: 263 In cooperative learning method, the role of a teacher is of —

A an organizer

B a director

[+ a facilitator and delegator

D a delegator and formal authority

Correct Ans : C

Subject : English Language 01

Q.No: 264 In humanistic theories of learning is relevant for the personal development of learners.

A Self-respect

B Self interest

[+ Self-expression
D Selfishness
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Correct Ans : C

Subject : English Language 01

Q.No: 265 "There are four men": Which of the following aspect of teaching language will help you to understand the usage of "are" in the statement?

A Semantic

B Phonetic

C Morphemes

D Phonetic-cum-graphic

Correct Ans : A
Subject : English Language 01

Q.No: 266 Extensive reading stands for

A Reading for enrichment of vocabulary

B Reading for pleasure

C Reading to improve fluency

D Reading to get details of some parts of the texts

Correct Ans : B

Subject : English Language 01

Q.No: 267 Skimming helps a learner to from a text.
A get the basic information

B build vocabulary

C build fluency in linguistic items

D develop linguistic semantics

Correct Ans : A

Subject : English Language 01

Q.No: 268 A teacher showed a picture in the class and ask them what all they observe. This activity is

A Grammar Activity
B Speaking Activity
C Cloze Based Activity
D Play-way Activity

Correct Ans : B

Subject : English Language 01

Q.No: 269 A teacher teaches, tests and reteach the class for the better understanding of the concept. This type of teaching comes under

A Direct

B Remedial
C Cognitive
D Operant

Correct Ans : B
Subject : English Language 01

Q.No: 270 To teach a poem in the class, which of the following material will help the teacher in the best way?

A Audio of the poem

B Video of the poem

C Poem written on the blackboard
D Poem written on the chart

Correct Ans : B

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.
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The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 271 Which of the following is the most suitable title for the given poem?

A Ink of Sadness

B Eating Poetry

C Happiness in being Alone
D Lights of Love

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 272 ‘The poems are gone, the light is dim’. What does the given line mean in the poem?

A the poet has consumed them all

B the desire to write poems is gone as there is not enough light there
C the dog has torn apart all his poems

D the librarian doesn’t allow the poet to write anymore in dim light

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.

Their eyeballs roll,
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their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 273 Why does the speaker say that he has been eating poetry?

A the speaker is experiencing happiness that no one else can understand

B the speaker wants to be alone because he wrote so much but it still feels worthless to him
C the speaker is not ready to write another poem in the night

D the speaker wants to say that he is going to stop his poetry writing soon

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 274 What does the word ‘blond’ mean in the given poem?

A very generous

B a soft wet area of low-lying land that sinks underfoot
(o} a person with fair or pale yellow hair

D having many aspects

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,
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she screams.

Q.No: 275 Which of the following is similar in meaning to the word ‘weep’ in the given poem?

A lament
B aid

C gloat

D praise

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 276 ‘There is no happiness like mine’. Which part of speech is the word ‘like’ in the given line of the poem?

A determiner
B adverb

(o} preposition
D conjunction

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Ink runs from the corners of my mouth.

There is no happiness like mine.

I have been eating poetry.

The librarian does not believe what she sees.

Her eyes are sad

and she walks with her hands in her dress.

The poems are gone.

The light is dim.

The dogs are on the basement stairs and coming up.
Their eyeballs roll,

their blond legs burn like brush.

The poor librarian begins to stamp her feet and weep.
She does not understand.

When I get on my knees and lick her hand,

she screams.

Q.No: 277 What is the mood of the poet in the given poem?
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A nostalgic

B sad and pity
C optimistic

D cheerful

Correct Ans : D
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H3 Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
H® Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trli. From 1895, he grew up in his father Nguyén Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 278 What kind of person H6 Chi Minh was ideologically?

A democratic

B capitalist

C marxist-leninist

D both communist and capitalist

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H& Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vié
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HB Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trii. From 1895, he grew up in his father Nguy&n Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 279 H® Chi Minh led the Communist-ruled Democratic Republic of Vietnam. Who got defeated at that time?

A the French Union

B Central Vietnam

C People's Army of Vietnam
D Viét Cong

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H8 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HS Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Tru. From 1895, he grew up in his father Nguy&n Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 280 Which of the following cities was renamed Ho Chi Minh City in honour of Ho Chi Minh?

A Cairo
B Saigon
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C Kim Lién
D Nam Pan

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H® Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HB Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trii. From 1895, he grew up in his father Nguy&n Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 281 Which of the following statements is NOT correct here according to the given passage?

A Ho Chi Minh was a key figure only in the People's Army of Vietham

B A city in Vietnam was also renamed after Ho Chi Minh in his honour

C The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain
D North Vietnam was victorious against South Vietnam and its allies

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

HS8 Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HB Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trli. From 1895, he grew up in his father Nguyé&n Sinh S3c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 282 ‘Information on his birth and early life is ambiguous’. Which of the following words is nearest in meaning to the word ‘ambiguous’?

A certain

B definite
Cc obvious
D dubious

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H8 Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H8 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HB Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trl. From 1895, he grew up in his father Nguyé&n Sinh S3c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 283 ‘He is known to have used around 200 pseudonyms’. What does the word ‘pseudonym’ mean in the given line of the passage?

A an original name of a place or person

B a name someone uses instead of their real name

C a name that has been assumed temporarily

D characterized by undue lack of attention or concern
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Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H& Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of HS Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HB Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Tru. From 1895, he grew up in his father Nguy&n Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 284 ‘Other hard facts while unofficial biographies vary even more widely’. Which part of speech is the word ‘vary’ in the given line of the passage?

A verb

B adverb

C determiner
D adjective

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

H8 Chi Minh was a Vietnamese revolutionary and politician. He served as Prime Minister of Democratic Republic of Vietnam from 1945 to 1955 and President from 1945 until his death in 1
Minh led the Viét Minh independence movement from 1941 onward. Initially, it was an umbrella group for all parties fighting for Vietnam's independence, but the Communist Party gained
ending the First Indochina War, and resulting in the division of Vietnam, with the Communists in control of North Vietnam. He was a key figure in the People's Army of Vietnam and the Vi¢
Saigon, the former capital of South Vietnam, was renamed Ho Chi Minh City in his honour. Ho officially stepped down from power in 1965 due to health problems and died in 1969.

The details of H6 Chi Minh's life before he came to power in Vietnam are uncertain. He is known to have used around 200 pseudonyms. Information on his birth and early life is ambiguou
HS Chi Minh was born as Nguy&n Sinh Cung in 1890 in the village of Hoang Trii. From 1895, he grew up in his father Nguy&n Sinh S&c's village of Lang Sen, Kim Lién, Nam Dan, and Nghé
who died in infancy. As a young child, Cung (Ho) studied with his father before more formal classes with a scholar named Vuong Thuc Do. He quickly mastered Chinese writing, a prerequi

Q.No: 285 ‘He quickly mastered Chinese writing’. Which part of speech is the word ‘quickly’ in the given line of the passage?

A pronoun

B adjective

C conjunction
D adverb

Correct Ans : D

Subject : English Language 02

Q.No: 286 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She greeted the proposals

A warmly
B quiet

C fine

D timely

Correct Ans : A

Subject : English Language 02

Q.No: 287 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Our new neighbours are
differently
disgust

disturb

o 0O @ >

delightful

Correct Ans : D
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Subject : English Language 02

Q.No: 288 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

It won't be easy, but we'll get across the river

A such

B somehow
C near

D painful

Correct Ans : B

Subject : English Language 02

Q.No: 289 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We were late our car couldn’t start.
A so

B yet

C instead
D because
Correct Ans : D

Subject : English Language 02

Q.No: 290 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Please refrain talking while you are in the library.
A with
B of
C from
D for

Correct Ans : C

Subject : English Language 02

Q.No: 291 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The television was functioning until yesterday.
A normally
B normal
C beautiful
D jealously

Correct Ans : A

Subject : English Language 02

Q.No: 292 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Her classmates made some remarks.
A cruel
B purely
Cc love
D hugely

Correct Ans : A

Subject : English Language 02

Q.No: 293 Which among following the best defines the process of language learning?

A an abrupt and fast process
B a slow and gradual process
C all inclusive process

D None of the given options

Correct Ans : B

Subject : English Language 02
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Q.No: 294 The process of Escape learning is based on which of the following?

A delayed reinforcement
B negative reinforcement
C positive reinforcement
D omission of reinforcement

Correct Ans : B

Subject : English Language 02

Q.No: 295 The term Intonation refers to which one of the following?

A A particular vocal quality that indicates some emotion or feeling
B A particular vocal quality that indicates knowledge

C A particular vocal quality that indicates loud voice

D None of the given options

Correct Ans : A
Subject : English Language 02

Q.No: 296 Which of the following skill is basic human communication in daily life?

A speaking
B reading
C writing
D listening

Correct Ans : A

Subject : English Language 02

Q.No: 297 According to , children learn language based on behaviourist reinforcement principles by associating words with meanings.
A B.F. Skinner

B Noam Chomsky

C Halliday

D Pavlov

Correct Ans : A

Subject : English Language 02

Q.No: 298 In a language class, the teacher wants the children to master the second language. What should she emphasise more in teaching language to students?

A Punctuation marks and intonation
B Reading and writing

c Listening and speaking

D Correct pronunciation

Correct Ans : C

Subject : English Language 02

Q.No: 299 In 'Zone of Proximal Development' (ZPD) a child

A Learns two words

B Becomes able to interact and learn
C Learns in phrases

D Undergoes language disorder

Correct Ans : B

Subject : English Language 02

Q.No: 300 A teacher decides to start remedial teaching in extra periods during morning assembly. What she should not do while helping students with learning difficulties?

A Prepare plan for easy and interesting activities
B Provide clear class instructions

(o} Give repeated tests in the class

D Involve outstanding and intelligent students

Correct Ans : C

Subject : English Language 02

Q.No: 301 Infancy is-
2473576
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State of adjustment

A
FHrEeE 3 Rufa
State of self sufficiency
B
o Fnfan ot Rufa
Status of problem
C
e 3t Rufy
Simulation stage
D

STIRY B1 Uy
Correct Ans : A

Subject : Child Developement

Q.No: 302 Each child is unique. This statement refers to the principle of -
2473766

TP SIad AT &1 78 FU g R o1 Gahia o 2-

Continuity
A
fFrmaar
Uniform pattern
B
TF 9 Ul
Integration
C
TR
Individual differences
D

AT HaHE
Correct Ans : D
Subject : Child Developement

Q.No: 303 Social institution governed by cultural norms
2474447

1. society
2. family

3. school

Trephr TS GRT IR T e BE-a 37
1. A
2. IRaR
3. %

Only 1 is correct

Faa 1 W B

Only 2 is correct

Faa 29

Only 3 is correct

Faa 3 wd R

Both 1 and 2 is correct

1R 2T R

Correct Ans : B

Subject : Child Developement
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Q.No: 304 Education is called a triangular process. Which are the three sides of the triangle?

2474622
Rie 1 1o TR T W 2. S B A AT - S 6 8
School, Knowledge, Teacher
A
free, I, Riew
Books, School, Teacher
B
fopa, foremer, fuere
Social environment, Teacher and Students
C
IR araraRv, e dR oF
None of the given options
D

fu e e # § B T

Correct Ans : C

Subject : Child Developement

Q.No: 305 Which of the following is a feature of progressive education?

2476661

wifeiier e 1 fadwan Fafafed & § s=-4d g2

Flexible time-table and seating arrangement
A

T TRH-3a IR S5 B AT

Instruction based solely on prescribed text-books
B

fEx Faa Fuiia urea-gwe! ) s

Emphasis on scoring good marks in examinations
C

wfteeli & o 9P TN W SR

Frequent tests and examinations
D

TR TEr SR TiEmy
Correct Ans : A

Subject : Child Developement

Q.No: 306 What should be included in the teaching-style provided by the teacher in the classroom?
2476904

Rrei GRT He § Tar 31 o areht Rieor-2elt & nfera o e ek

Motivation and innovation

A
RN SR TaER
Natural environment
B
Uil TafaRor
School-books
C
Fa-gEE
Standardisation of performances and strict-rules
D

YR T AP0 3R T gt

Correct Ans : A

Subject : Child Developement

Q.No: 307 Learning shouldbe__
2476925

sfrm, @A aiRe

A Teacher-centered
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Rier-HHa

Learner-centered

B
Rremdf S
Curriculum-centered
C
U=l i
School-centered
D

femer B
Correct Ans : B

Subject : Child Developement

Q.No: 308 In a classroom the rate of learning differs from person to person.

2476931
Which of the following characteristics of learning does the above statement point to?
T el H AR P R TP ol I R oufed A A gt €1
ITa o siferm it e § 3 few frdvar 3t ok W dear 82
Learning is goal directed
A
st aea FERE &
Learning is an active process
B
i Ue wiba i ¥
Learning is an individualized process
(o}
T O afkeTd Wi §
Learning is creative
D

SR TS

Correct Ans : C

Subject : Child Developement

Q.No: 309 Which of the following is NOT a good idea in class-room teaching?
2476963

e & 3 FH-a1 Her-we e § ue 1 fiuR T8 82

Suggest one way to solve the problem

A
T & FAE BT BIS TP U GIEY
Ask the learners to solve the same problem using different strategies
B
gt & faftrer TorifRrd @1 S Bv T & e @ 59 T & R 5y
Ask the learners to follow the way suggested by the teacher in solving the problem
C
el & s o1 5w B # Riere R G T R H7 U I & G B
Believe in the ability of the learners to develop new strategies
D

% worfifer ol e & forg fianfRfal ot divaar 3 fayre w¢

Correct Ans : C

Subject : Child Developement

Q.No: 310 Behaviour related to moral values, nationalism, truthfulness etc., are largely an outcome of which of the following types of learning?
2476994

A e, Tgare, F=E ofe & Heifdd HaRR A IR W Fafarad ¥ 3 5w uer & S &1 uform 32

Affective learning

bt Do

Concamitant learnina
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wEad s

Discrimination learning
C

e siftem

Psychomotor learning
D

TR St
Correct Ans : B

Subject : Child Developement

Q.No: 311 Which of the following should be an important direction in framing an effective learning plan?
2477039

1. Learning should be done from simple to complex topics

2. Learning should be from unknown to known

Choose the correct code -

TE Furd Sifrm-die TR S § Fefifed ¥ 9 @ @ veag e 9w
1. W A e fawdi F1 ok siftrm anfgy

2. ST SETd ¥ I @1 IR E ARy

T DS G -

Only 1

Fad 1
Only 2

Fad 2
Both 1 and 2

GF 1 9iR 2

Neither 1 nor 2

a1 RAR2

Correct Ans : A

Subject : Child Developement

Q.No: 312 Who out of the following defines delinquency as occurring in a child “when his anti-social tendencies appear so grave that he becomes or ought to become the subject of offici
2477661

frofafea # 3 5 t 5= § 81 arefl o1y Fo 39 wu H uRefa o - o St sramifere waf sart iR e &t § & a5 sifYeie oRar &1 favd §9 S § 91 s Fnfger?

Cyril Burt
A

Rk ¢

Burrhus Frederic Skinner
B

o4 Peie R

John B. Watson
C

i o e

Carl Rogers
D

Fel o

Correct Ans : A

Subject : Child Developement

Q.No: 313 Which of the following is NOT a factor for giving impetus to child delinquency?
2477681

FroffEa 7 § S T SR 3 Wie &7 9 RS 76 67
A Development of inferiority complex.
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B TaT & fas

Equal distribution of wealth in society.

B

T H € BT 9HH o)

Negative thinking in the child.
C

T § TORES Al

Emotional instability in the child.
D

= ¥ Ui AR

Correct Ans : B

Subject : Child Developement

Q.No: 314 From which of the following countries did the concept of Borstal schools originate?
2477792

AT Tl Bt SrauRon Fofifea # ¥ 59 < 3 Iaw g5

USA
A
Tgad T ST
UK
B
R
Germany
C
s
France
D
wid

Correct Ans : B

Subject : Child Developement

Q.No: 315 Which of the following categories of children are NOT accommodated in the inclusive education system?
2478109

i) Economically disadvantaged

i} Culturally disadvantaged

iii) Children with disabilities

Choose the correct code

Frofefea & 9 e doft & o=t @ warah e vomedt & wemife @ far s 32
i) enfie =9 § dfa

i) AGpid®s ¥ ¥ dfed

iii) fadman s=

T Bl T

i) only

i) Faa

iii) only

iiii) Had

i) and ii) only

i) 3R i) Faa

Neither i) nor ii) nor iii)
T i) Tii) MR i)

Correct Ans : D

Subject : Child Developement
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Q.No: 316 Muscular dystrophy is one of the causes of

2478287
AR, FaRiiddw
Visual impairment
A
=5}
Speech impairment
B
T ST
Locomotor impairment
C
T IRe T
Hearing impairment
D

YqUT SR

Correct Ans : C

Subject : Child Developement

Q.NO: 317 e e has/have said - ‘What is creativity? First, the product has to be novel if it is called to be creative. The second criterion is value.’
2478348

---------------------- A FEI 3/Fe1 § - EATEHAl RN 87 T Ugd, IATE 3 JUIN EHT AR Ife 39 T @l Sl 81 IRl AFGS O gl

Good and Brophy

A
3T IR
Haimowits and Haimowits
B
FUaEY SR Fafocy
Torrance
C
RE
Gallagher
D
TR

Correct Ans : A

Subject : Child Developement

Q.No: 318 Which of the following type/s of education system considers no segregation of socially and culturally disadvantaged children in the regular school?
2478386

i) Integrated education

i) Inclusive education

Choose the correct code

e § ¥ 59 ueRr 3 Rien yomeh Fafia wga & i SR Oipfad U @ did 9 & Sed B e g 82
i) Teblepd fRam

iy TETaeht R

T B T

i) only

Fadi

ii) only

Fad ii
both i) and ii)

oMl 3R

Neither i) nor ii)
Fari MR AN i
Correct Ans : B
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Subject : Child Developement

Q.No: 319 Learners who speak their local dialects which is different from the school language is a mark of

2478428
. Rigredf it sroet wiritg Siftrt Siad B, S wpa Y W @ m R, o %1 g 1
Slow learners
A
ofif e T fRremif
Underachievers
B
&0 el IR HRA ar
Socially and culturally disadvantaged children
(o}
o iR wikpfas T 3 dfam =
Average children
D

orad T

Correct Ans : C

Subject : Child Developement

Q.No: 320 Which of the following statement is false regarding the effect of heredity and environment in human development?

2478859
T I 7 el R TaiRw & wuIg & Hay ® Fufifed # § $F w1 o9 o/d 37
Effect of environment is static whereas role of heredity is dynamic.
A
wafaRo 1 wTE R B @ S iR 3t it 9 Bk 81
Effect of environment is dynamic whereas role of heredity is static.
B
YafeRI BT WUTE FithT ST € Wlh SgdRiemar B YT RR S 21
Effect of environment and role of heredity is static.
C
TR BT TUTT R SR B et RR 3
Effect of environment and role of heredity is dynamic.
D

TGiaRl B TUTT R SMIERemdr B YT 9id B
Correct Ans : B

Subject : Child Developement

Q.No: 321 Who among the following defined Intelligence by stating that Intelligence is the aggregate of global capacity of the individual to act purposefully, to think rationally, and to dea
2479666

FrofaRea & 3 frad g3 (S2fesia) = aRuiia w3 gu w1 i Sefenty =afd o SERaRU ¢ ¥ o1 F, ThuTa U F W &R 37 gafavor & yurdt & @ Piued & fow AR emrar &1 Y

John C. Raven

A
GEE R
Edwin Boring
B
Tefam s
Jean Piaget
C
St Rt
David Wechsler
D

g IR

Correct Ans : D

Subject : Child Developement

Q.No: 322 According to the two-factor process, there is one general mental ability that is governed by which of the following?
2479689

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 88/91
Page - 88



fo-oR® uftsar & oUR, TE WM URRS gmar € o Pafafea 3 9 feud grr dfa @l @2

Heredity
A
arrgdfRar
Verbal Reasoning Ability
B
A T g (e o TRl
Personal Life Experiences
C
KA Sfle & SfgHa
Numeric Reasoning Ability
D

TS T & (RS It TR
Correct Ans : A

Subject : Child Developement

Q.No: 323 According to the two-factor theory, the s factor for different skill sets is in the same person?
2479701
f&-FR® Rigid & 4R, F-oRes WA i il FRa A F R
Same
A
EURGE
Varies
B
fore g &
Fixed
C
ity war §
Stable
D
RREw?

Correct Ans : B
Subject : Child Developement

Q.No: 324 According to the multi-factor theory, Content related to verbal meanings represents which of the following?
2479744

g-PR® Rygid & ouR, Nw ol T Gdfa Rvgawg (dee) Pk 3 A frue uRiifa od 82

Visual ability
A

T draa

Semantic ability
B

Srear drvar

Symbolic ability
C

UeliepTeTe draar

Auditory ability
D

yqui-gaeht Irgar
Correct Ans : B

Subject : Child Developement

Q.No: 325 Cognitive theorists believe that-
2479870

TATAS RIGITHR! BT AR © -

That behaviour is determined by our action

o sraer T wraf & Fuffa g g
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B That our action is determined by our behaviour

% guRT ol TR e A FrefRa g &

That behaviour is determined by our thinking
(o}

3 R T W P g &

That our action is determined by other’s behaviour
D

% &urT o TEk & wraeR A Pufia dard

Correct Ans : C

Subject : Child Developement

Q.No: 326 Who among the following proposed the two-factory theory of emotion?
2479999

frafafea # § feem g9 & fa-oRe Rl o1 e @
Dollard and Miller

A
IS 3R FreR
Cannor and Bard
B
R R st
James and Large
C
S T as
Schachter and Singer
D

TR R RIR

Correct Ans : D

Subject : Child Developement

Q.No: 327 Which of the following is not regarding emotion in a child?

2480063

frofafea § 4 o9 ve o= § 990 & vy H T 32

Increased awareness and control of feelings and behaviour by children in a given situation are indicators of emotions.
A

fopet feriw URRfRURT & St G Tgelt IRl 3R I SiR SaeR TR e Wavs & G g1

Emotion of a child does not vary from situation to situation
B

T = 9 R R v T B |

A person may show different kinds of emotions for similar concepts but at different spaces.
C

T e SHH SauRnst & fg fafte TeR @t waelt Hi o wwar § Afe e R Wi

Emotions are inciters to action.
D

HATE PR & T IHAH TP 81

Correct Ans : B

Subject : Child Developement

Q.No: 328 Which of the following play/plays important role in child's socialization?
2480203

1. Media

II. Family

III. Nutrition

1IV. School

FafiRed # 4 S 5= $ grmsieRu § Teaqyl YEeT Fum 32
L. Hifgar
11, TRaR
111, 9o
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1v. Ry
I and III

I 3R 111
II and IV

I 3R IV
I, II and IV

I, II 3R IV
II and IIT

11 3R III

Correct Ans : C

Subject : Child Developement

Q.No: 329 Which among the following factor is considered as heart of learning?

2480256

PR & § SIF-31 SRS TG B ged W ST 82

Attitude

afirfa

Intelligence

=

Motivation

SRon

Interest

w

Correct Ans : C

Subject : Child Developement

Q.No: 330 Humanistic type of progressive education is-

2480675

Person-centred

e P

Child-directed

- R

Construction of own ideas

4 & ARt &1 9o

None of the given options

feu g et § QIS TR

Correct Ans : A

Subject : Child Developement
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